B MIRAN®

XKBAEHPREAERSG

MIRAN CENTRALIZED LUBRICATION SYSTEMS




MIRAN®
HsKCONTENTS

/2= 1171 4
Company Profile

AR RGO B 5
Installation Diagram of Volumetric Lubrication System

BB RGBT E .. . 6
Installation Diagram of Resisitant Lubrication System

i gl = | 7
The Model and Description

MR-22022 (2L) 3 B MR . . 8
Semi—-automatic Thin Oil Lubrication Pump

MR-22322 (2L) & B ol R . . 9
Automatic Thin Oil Lubrication Pump

MR-22023 (BL)E B BIFE IR .. oo 10
Semi-automatic Thin Oil Lubrication Pump

MR-22323 (BL)E BT IR . . oo 11
Automatic Thin Qil Lubrication Pump

MR-2202B (4L B oI iR . . . o oo 12
Semi—-automatic Thin Oil Lubrication Pump

MR-2202FE R (AL)EBEIIEHEERE ... 13
Semi—-automatic Thin Oil Lubrication Pump with Continuous type
MR-2232B (AL)E B oI R ..o 14
Automatic Thin Oil Lubrication Pump

MR-22321F B (AL)E BB IR .. 15
Automatic Thin Oil Lubrication Pump with Continuous Type

MRG-5202(3L)¥ BahmfEimm— AR (KHB=E) ... 16
Semi-automatic Grease and Thin Oil Lubrication Intergrated Pump (Large Oil Output)
MRG-3202(3L) ¥ BalBEwBE— TR . ... . 17
Semi-automatic Grease and Thin QOil Lubrication Intergrated Pump

MRG-3232 BL)2BaHBERB—IEZR ... 18
Automatic Grease and Thin Qil Lubrication Intergrated Pump

MRG-5232 (4L)2 BaiEEHRBE—FER (KEHEE) ... 19
Automatic Grease and Thin Oil Lubrication Intergrated Pump (Large Qil Output)
MRG-3202(5L) BB M — IR ... 20

Semi-automatic Grease and Thin Oil Lubrication Intergrated Pump

2




MIRAN®
HsCONTENTS

MRG-3232(5L) & BalBEmMm— IR ... . 21
Automatic Grease and Thin Oil Lubrication Intergrated Pump

RGH-1202-100TO0F BoIHBE R ... ... 22
Semi-automatic Grease Lubrication Pump

RGH-1232-110TE BB IR ... o 23
Automatic Grease Lubrication Pump

RGH-1202-110T B BB . . o oo e 24
Semi-automatic Butter Lubrication Pump

RGH-1232-100 T B BB R . . et 25
Automatic Butter Lubrication Pump

B R R 26
Cycloid pump series

FR R FEIEB MR 27
Oil lubrication Pump with Hand Shake

B A B I B B 28
Cooling Lubrication Sprayer with Self-priming

FE R F IR IR . 29
Butter Lubrication Pump with Hand Control

ME/MV/IMKRT 2 B 88 . .. 30-31
ME/MV/MK Adjustable Distributor

MB Ay L B . . 32
MB Distributor

LIDEEREXNBHMSEF/ EEFRABBESES. ... 33
LD Quantitative Deoiling Thin Oil Distributor / Volumetric Thin Oil Distributor

P b= = 34-40
Lubrication Accessories

e = W 41-42
Proportional Restrictor Rod

BB E B 43-44
Oil Tubing / High Pressure Oil Tubing

2 1 U 78 44
Tubing filter

T /RSB . . 45-46

Oil calculation/troubleshooting




®
/&) {8 frcompany introduction MIIh\N

RINTRKEARBFERABRRERINTEHMAMAENSHEAREL. AFEIBEILERINTABESHR
FEXRMZOMNE, RELRESR. fixF.O0. FIEB. AUPD, EEREE. EHBUREBHREZEM
BEEHEL, REFGMEHET, A XEPREEHBZ. RNAKRS. A8 EPIEEEHTHI00ZEHM
KUEIIUERX, #HAES50000% FRPILLFESRZEE, SIHMRUETESKNLZZI30008E8. ABIFEFS
fm I BX13CE. 3CIAE, H 3K131S09001 2008FEPRFREAX R IANIE, mHEIZFBEPFRRE N IEREHLD R
I EEMEE, BRSRRE. ARPHEE.

RINTRARBERABREFHNEFHBREZETEES T BWHERAXRIEMHERER~@, P&l
ZHAF: TENM. BT, mIdd., B, £7%, LK. BiE. BE. 928, B8, KT, #%
B . A& B, IR, ERFZTUIMNNMEEHEERERAEREEDHBRRS, A8H
BREGFRETEES, EEREERHTRILTZNINERHEL.

EMEME:

— BAMETNE, ARERINNAFHFEXMPIERABRIBRBEE &M, HERE, WK
B, ALUBEARMEITERNEK.

Z RENHEMEERS KR, 2FLERI, EEHREHWFETIWEE/MRIZANERHEN
M, #IrzxRREGMELHEET, AL FRUTRESETIHERGHR,

NEFREK “REEF—, APEL, BEAK X8, ABEFREHBEEEN~RMRS.

R~ KEFKE., KK, KIF, Fifl. A%, GEHEXLGRES.

RB-KREFPEEEHEKX, ABHRIAEHEX"R.

Shenzhen Miran Technology Co., LTD. is a high-tech enterprise recognized by shenzhen municipal government.It
headquartered in the core position of Shenzhen Guangming High-Tech Park, but has engineering department, r&d,
manufacturing department, testing center, after-sale service department, marketing department, and direct sales offices,
agents and distributors all over the country, for providing considerate and timely service to our customers. In xiangyang city,
hubei province, we have more than 300 acres of modern industrial parks, with more than 50000 square meters of clean
workshops, and more than 3,000 modern manufacturing and testing equipment. All products of the company has achieved
CE, CCC certification, and obtained ISO9001 2008 international quality system certification. Organize design, production and
sales in accordance with international quality certification standards to ensure product quality and customer satisfaction.
The production of centralized lubrication system made by Shenzhen Miran Technology Co., LTD. has mainly two big series-
dry and thin oil lubrication products. It widely used in engineering machinery, CNC machinery, processing center, elevators,
production line, machine tools, forging, textiles, plastics, wood, rubber, mining, metallurgy, construction, printing, food and
other industries, and verhicle chassis centralized lubrication system. Our lubrication system products are sold all over the
world, and we set up several direct offices in major domestic cities.

Our advantages:

1. Strong production capacity. We have factories both in Shenzhen and Hubei Province, and also a lot of

in-stock products in warehouses.

We can meet large demands from our customers, and always deliver the orders on time.

2. Excellent sales & after-sales service. We are headquartered in Shenzhen, and have branches all over China. We guarantee
life-long for all products.

The company adheres to the tenet of "Quality First, Credit First, Customer First", and provides customers with high quality
products and services.

Welcome you to call, email, consult, negotiate, cooperate or visit.

Welcome you to customize related products by your needs.




o %n
=
Installation

MH0418 MBO04

Fl i @
PT1/8%F ¥ .

[}

o

el MIRAN®
RABRSGELERE

~
Diagram of Volumetric Lubrication System

MAO04

ﬁ%ﬂm

MHO0418

MHO0418 MBO04 MA04 MB04

AMMB &

\Em“:«"e

MG0610

I}

7
Y

'\ MG0610

MBO4—> & &

maos—> 1 11

MAO4—> ﬁ ﬁ

@9 ———eee OBMMHE 0il tube

@ —————  OAmmMBE oil tube

{ it & 2 %Fittings ]




MH0418 MBO04

LY
PT1857
‘

RN ABER R R

el MIRAN®

£33

Installation Diagram of Resisitant Lubrication System

MAO04

£

&

{

#

wg.‘

MB04

MHO0418

O

MAO06 MBO06
‘D £ =8
‘B\ MZ1106

\MZ1106

MB044

N E R R I

]
MHO0418
MAO04 MB04
R
= €& e %
[
[}

o e e

W W W «—MAoe
& @ & <« —MB06

FErT T T ey —

I =

'\ MG0610
'\ MV046-06

MA06 MBO06

MB04 —» & @
MA04 — B A0 A #D

[11]

MAOA —> R @2 82 |

i & O &
MBO4A —> @ & ® @

& &

n | [ i
MD0408 —>» m Iﬂ Iﬂ IF
) )

LI T T }

MV026-06
MB06 MA06
= —3 b -
iﬁi i <
o A MGo610
MB04 —>» & &

maos —> fH 08
— W W
—> @ @

MA04
MB04

rE
MD0408—> || ax MHO418

)
)

o

fi & 2 %Fittings
0 ———ee OBMMHE 0il tube

@ ————————— OAmmiHE oil tube




el MIRAN®

A= r s K H R AREZEAEEEMERFBAE

Model number and explanations Lubrication Program can be customized

MR-OODO-000HOHH

D |RRBMUFXHALER [D: level switch upison

=8 | R AR ALFF XA T8 @A) |Blank: level switch down is on(acquiesce in)
00 (FRRERELIFX 00:without level switch

B [MR-2202FFH#ME3E  |B: MR-2202 series wibuzzer
=1 |MR-2202% %I 7~ 5 4% 18 28| Blank: MR-2202 series without buzzer

A |RREWREH |A: Motor
=@ | RnFH B |Blank: induction motor

X | RTABHENS, KERMERANEFER
T | RREHENE, EEMRAASERER

X: Buiit-in pressure take-off mechanism
T: Without pressure take—off mechanism

EhFEMEENE

Pressure switch action pressure

10| 10kgf/cm’ 10:10kgf/cm

05| 5kgf/cm’ 05: 5kgf/cm?

00 | R#EAFX | 00:without pressure switch
MRS

Oil tank volume
{1] o fasfise [2] oo [3] s [a] a [5] s |

B AL 2
Motor type

1| BHE110V | 3 | =48220V |1:single phase 110V 3:three phase 220V
2 | ##E220V | 4 | =#E380V |2:single phase 220V 4:three phase 380V

0 7 R E B B A R
3 | HNK-3E B A5 B 7w 5% Al =X 4 O U AE B ER

0: without dual-timer module
3: with dual-timer with digital display and press buttons

L% #2P

Number ofmotor poles 2P

EHBERE ST E
Lubrication pump per minute discharge capacity
1 | 0~100CC
2 [100~200CC
3 | 200~300CC
4 | 300~400CC
5 | 400~500CC
BYEABRRS
Code of motor-driven lubrication pump
MR | 5 R MR:oil lubrication pump
MRG| 7 i A — 1 3R MRG:oil and grease integrated pump
RGH | = ¥4 % i1 AE SR/ M 3R | RGH:High viscous grease pump /butter pump
EEEARNFIFEIR . ] . o .
10 UEEE R AR IR T AT B A LU AR R KRS B], LA R A — BT S BB, Bl A ek, FToEENERRIFEILTH.
2. SLEBRCHAEF BaiEMRMLERCHE S B ARBAER =R, FEANIRTZ.
3. MM RATLURBEAERES, MHKKBF.




MR-22022 (2L)

B MIRANS
¥ s B B 5E /a8 Jh ZPLCHY

Oil Lubrication Pump Controlled by PLC Type

| 205 140
" 168
e e || |
| | Nz \ |
| - i
i Ic ) | s\ B ®
! e __ -4 do ol () 5K B MIRAN
m i [ .5
| | | © i I i ‘
Wi i GY
| (1l |
il Il
| ' ! | SHENZHEN MIRAN TECHNOLOGY CO.,LTD
- . an =va AN =
¥ R & ¥ Technical parameters
o c = = 15 A Ak B
Mﬂfl %’%ﬁﬁi Rzﬁteid&r%tf;ry Plj]$ c EE';F”E A Ratgeﬁdipgeisjgure Mag_;zcr!eiszare V%I?*R Disﬂjéri%e Rated R %Ek
ode oltage Speed ower Ly kgf/cm? kgf/cm? olume capacity ml/min pliZ?/Scli\:? emarks
220V MR2201
MR-2202-200T 50/60HZ KEBE
110V
220V _ _
MR-2202-200X | 50tz 2400 18W 0.12 18 35 2L 200-300 30-1000 MR2202
220V ﬁZi‘Z%SE\'/E
MR-2202-210X| 506017

I SHETAMMNA, TXRERX

*mode name with "T" is resistant, mode name with “X” is volumetric

4 B 5 45 mPerformance characteristics

1. 4 Je A0 18] 8 A (8] [5] 2 41 BB A 42 IS E .
2. HERESR2. 3. 4, 5FF, HHEE200- 300mI/min,MERABIAMT BT ARE, HHETEN, O%, REMMH.
SAREMAEAMNE (—MNMBEMR, —NEIER) , wAE.
AFREEFERENEBEEHA.
(AIRBEEAPEEEHERERAR)

pressure relief valve f[] [ [{§]
pressure regulating valve ifF J& [{§] —»

1.0il supply and intermittent time are adjustable by PC controller.

2.With the out of 0il 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc.
There are oil level gauge and automatic oil control device on the oil tank.

The red lightis on when the oil quantity is insufficient, which reminds you to fill it up.
3.There are two valves in the oil pump, pressure regulating valve and unloading valve. (refer to figure 1-3)
4.Metal oil tank can be customized.

(specific lubrication plan can be customized)

* B RARER A& KR
Wire Connection can be Customized

1% 2% B The wiring diagram

warnning lamp

J=tPiES manual button power LED
/ HBiRiE R AT
_1DK/
A ?&I%%’ﬂ arnning lamp
glle
@ T 2
z 11234 5
* ’, ? z‘erollnl
L 1
LI gl
PLC
AG220V
K&




MR-22322 (2L)

B MIRANS
s i BB B 5 e H R R ik BY

Self-control electric oil lubrication pump

|| ® @ @ @ \
® - # N ®
[ < S K B MIRAN
G = | m I
—[___ - o ILUB.(sec) o INT.(min)
il [ - I || m 5
h | g [ 1 |
| 1l J
I [ [
| Il
|
| 2kl
(- [ ® 0 O O
1 '_ 14 | | SHENZHEN MIRAN TECHNOLOGY CO.,LTD
= g NI pay = L

T @ AR B 3 R 2 #Product specifications

. = — &AL E
Mggcil I\%/(J)i_ltzﬁf Riﬁieid%giry PI(j)]wg;r Cur?eﬁ(A) Ratge}ﬁdip:-j—eiz:ure Maﬁ;ﬁgggre Vﬁu*ﬁ\we Dii{:rﬁgie r':ztsidre Re%\;;airks
9 Speed kgf/cm? kgf/cm? capacity ml/min pkgf/cmz
220V
MR-2232-200T
50/60HZ MR22314t &
HBE110V
MR-2232-200X 50%%‘42 2400 18W 0.12 18 35 2L 200-300 30-1000 | yroosoics
B [£220V
220V
MR-2232-210X 50/60HZ

B SHTARMN, SXAEIRK
*mode name with "T" is resistant, mode name with “X” is volumetric

% B /5 3£Method ofuse

1. TYERTE]: KIRSETHE, I “HAB” ERERFZEMRE, WFSETE, RAVEEEMNMIFIRTSETE, RAVEEREH
; BIETSETE, RAVEEREEMHE(1-999F) .

2. B BATE] . KIRSETHE, W “EE” ERERFEIET, WRIFSETHE, RAVEEENIH; L TSETHE, RAVEEEHA
%, BIRTSETHE, RAVEREBMNE; FIREA VA28, BEATEIT 9/ (1-999751-999%) ; L] EHlA: RAT
A V2280, (B BXET B A] 53/ N AT AR R (1-999433K1-999/1BT) .

3.RSTHE, H—TUHETEFHBERBERETERERES.

A BEREEIEBERGERE FA MRS, FHHFHEALUB. INTIEIR, B ABLUBEIT=, BERMRABINTAI=.

5. ERO AR KR FTHEAFE, ERPAEFRKRENEE.

6. BB PIEMREEBICIZINGE, FTF/NFR—FANBEIZIZ. XFANFx—, BEIBIZEL.

7THEEANEBIRED DG, UREBEEITHEE, REFNEEREEFTHERERE.

(AIREEFPEECHETRABAR)

1.Working time: press and hold the SET button, release it when the numbers jump, then press A V¥ to set unit digit; and press the button of SET again, to set ten
digit with pressing A ¥ ; press SET to hundreds digit(1~999 seconds).

2.Interval time: press and hold the SET button, release it when the numbers in other Display screen jump, then press A V¥ to set unit digit; and press the button of
SET for two seconds, the interval time can shift between minutes and second(1~999 minutes or 1~999 seconds).

3.RST: Press and hold this key to relubricate or clear the abnormal alarm.

4.After the circuit power is turned on, the system belongs to the oil supply state, and enters the LUB, INT cycle. When the fuel is supply , the left LUB green light is
on, the right INT red light is on when the system is on rest.

5.When the ERO flashes, it means that the amount of oil is insufficient, and when the ERP flashes, it means that the pressure is abnormal.

6.There is no power-off memory function in the digital display box, and a small switch is turned on to enter the power-off memory. Turn off the small switch, and the
power off memory stops.

7.There is a key lock function in the digital display box. You can lock the set button after setting the time according to your needs.

(The lubrication program Can be customized according to customers’ requirements)

9




B MIRANS
MR-22023 (3L) 7 3 B 2 378 3 JP L CA!

Oil Lubrication Pump Controlled by PLC Type

K BAMIRAN®

O O

iR

7Z i M R F R £ #Product specifications

" : . = = 5 7R ks BE
) = o EHEIR - > BEEN BAEN s nt 8 5
Mggj;fel %ﬁiﬁf Rated ritary Plgjﬁr Cur?éﬁit(A) Rated pressure Ma; pressure V;Tu*ie Discharge rzztsi?e Reﬁlairks
9 Speed kgf/cm? kgf/cm? capacity ml/min pkgf/cmz
220V
MR-2202-300T 507/60HZ MR22314% 3%
BE110V
220V _ _
MR-2202-300X 507 60H7 2400 18W 0.12 18 35 3L 200-300 30-1000 MR2232% =
B E220V
220V
MR-2202-310X 50/60HZ

*HISHETHMMR, FXABFHA
*mode name with "T" is resistant, mode name with “X” is volumetric

4 4 5 4% sPerformance characteristics

1. {3k 56k 0 ) B B (5] 8] 3 AL B A R IR E

2. MR EA2, 3. 4 5FF, ptHE200- 300mI/min,MEFEMBAIT BT HEE, SHETEN, A%, REMH.
SHREBEARMNE (—MEERE, —MEER) , mAE.

4 ARBEEFBERENERERBMAE

(MRERFEEEBMERABAR)

1.0il supply and intermittent time are adjustable by PC controller. EDE ITE
2.With the out of 0il 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc. A E |1ﬂ—>

There are oil level gauge and automatic oil control device on the oil tank.

The red lightis on when the oil quantity is insufficient, which reminds you to fill it up.

3.There are two valves in the oil pump, pressure regulating valve and unloading valve. (refer to figure 1-3)
4.Metal oil tank can be customized.

(specific lubrication plan can be customized)

* R N ARER P TR

Wiring Connection can be Customized

£ 4 & The wiring diagram
24VIRE AT

mEFF R

IR AT / B R ¥ R AT
DK
) Y /

. ) ?}?j?ﬁgzﬂ
WAL TR E
i “V:%
3
W I ‘
o/ o/o/0 00|00 A 'SR °
112/3/4/5/6/7|8 7 112(3|4|5|6
[ 3K ) I 0o 0 00 x o o|efo o0
LI 2l LU gl
PLC LC
AC220V AC220V
Kk Nk

10




MR-22323 (3L)

B MIRANS
s i BB s jE g H R 7R ik BY

Self-control Oil Lubrication Pump

236 .
b 5

163.1
218

224

1 1
@e@ee6

vy Vi
¥ /K & B Technical parameters
commg - — = 15 i Ah B
= o= B E 55 1R . S MEED BRKEA . = 5
A= FA [E 57 % : S AR = ; Rated %iE
Model Voltage IR liEwy Power Curre:'i(A) REleE presiure bifew presszure Volume Dlsgharge f pressure Remarks
Speed kgf/cm kgf/cm capacity ml/min kgf/cm?®
220V
MR-2232-300T
50/60HZ MR22314k %
BE110V
MR-2232-300X | . 220V 2400 18W 0.12 18 35 3L 200-300 30-1000
50/60HZ Mr2232/% %
B [E220V
220V
MR-2232-310X 50/60HZ

B SHETARRRA, TXAFRA

*mode name with "T" is resistant, mode name with “X” is volumetric

2 ElThe wiring diagram

rest time control button

ole|e
4156
oo |0
IR

1) 8K A0 L

manual button

RE

TAEMAR
work time control button

M BE 5 4F mPerformance characteristics

1onh A B RERIERAG M A EF (UPEKRESED FTMEE (DOWNSERREATE) 2§k
T, KN AT B R A2008, KRR (B BRAT 8 iR EI EAR £ M E A (UPEEAC RS
[8) FT B (DOWNZEFERT[E])) $RGEQE, (6 EKAT[E & KAIIA9995 %, HEH0. 15
, BEARO 154, BIENEER, Z—RIZR, BEo, BRERKET, B m
®, RAREERERMEREFE (Manjiz®E, BZIEHN.

2. HHRBRERPREM, RTENTRE, REEAEREHR, &B—T (Man)izf, HK
RE.

3. YHR EREROM, RRHMENE, MbFBEHNERKRE.

4. 324EF (Man)RBAMASEHAK, T—EHtb.
(AIREEAFTEEMEREBFR)

1.Fuel supply time is set by the UP button(extending the time) and DOWN
button(shortening the time) on the right side of the control panel, which
can reach up to 200 seconds, with the precision of 1 second. Intermittent
time is set by the UP button(extending the time) and DOWN
button(shortening the time) on the left side of the control panel, which can
reach up to 999 minutes, with the precision of 0.1 minute. When setting
the time, the beat numberis 1 if you press the button once. The beat
number can be accelerated if you hold down the button. All the settings
will take effect immediately after the setting is completed or after the Man
button is pressed.

2.When the oil pump shows the EPR alarm, it indicates that the pressure
is insufficient. If the the pressure is normal, press the Man button to
eliminate the alarm.

3.When the oil pump shows the ERO alarm, the oil quantity is insufficient,
and the alarm will be automatically eliminated after refueling .

4.Holding down the Man button is manual test.

(specific lubrication plan can be customized)

11




B MIRANS
M shiE g R RPLCEY

Oil Lubrication Pump Controlled by PLC Type

MR-2202B(4L)

256 168
212
7N
. i ) A —| |
|
jnk. ;i'\ % D
T il ® /
(11 | i I i
it £ — i z
— |
it n I|
AN :i' i 7
| | |
LT
b g L E -
¥ /K & B Technical parameters
s = - = 15 i Ae
= . i E IR . BMEEN RAEN e it = S
B B JE 551 3 : N B =R ) Rated %
Model Voltage RatSed ngary Power Currer":E((A) Ratelf ;f)/rerifure Ma)l((p;/esn?:ne Volume D'sﬁhar;?/iﬂn pressure Remarks
pee gf/c gi/c capacyj kgficm?
220V
MR-2202B-400T
50/60HZ MR2201Bft %
BE110V
MR-2202B-400X | . 220V 2400 18 0.12 18 35 4L | 200-300CC | 30-1000
50/60HZ MR2202Bft %
220V F E220V
MR-2202B-410X | 50%%0n7
*BEHFTHEMN, TXRERK

*mode name with "T" is resistant, mode name with “X” is volumetric

™ BE 5 4F = Performance characteristics

1. {3 5ok 70 5] B B (8] [=] 3 4L B A 4 1) IR RE

2 FEA Eih2, 3. 475, ntE8200- 300C¢C/min MEREEMAMITMADEHEE, YHETERN, A%, REMMH.
SHREMARANE (—MEER, —MEER EO0-3).

4 ARBEEFAERENEREEMME.

(AIREEFFEEREREBAR)

1.0il supply and intermittent time are adjustable by PC controller. ‘ffl] E”ﬂ
2.With the out of 0il 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc. W £ 13—

There are oil level gauge and automatic oil control device on the oil tank.

The red light is on when the oil quantity is insufficient, which reminds you to fill it up.

3.There are two valves in the oil pump, pressure regulating valve and unloading valve. (refer to figure 1-3)
4.Metal oil tank can be customized.

(specific lubrication plan can be customized)

4L E i - * 38475 AT IRIE A P SRR it
j:i g£ The erlng dlagram Wiﬁng CoIn:ection can be Clu;tomized

24VIRE T /@D\ N
@' AR IS AT / R 15 R kT
/
- ) [y / 220V
J ] %}ﬁ[?&%ﬂ
f
&
IR Y Wﬂv [iv2
112/3/4/5/6 112134 7
o0 I oleoe olo|o|e X
’ y
Ll | 2k L%j Qgi
PLC PLC
AC220V AC220V
Nk Nk

12




B MIRANS
MR-2202;& 43! (4L) 5 S B8 2075058 5 P L CRY

Oil Lubrication Pump Controlled by PLC Type

i 256 168
|
- 212
i ] L ] il il
¥ A\ T
1| - .r_ I
e g || olNmiil
T,, | T ,_ ?\‘ﬂ T i B |
(411 | b : i e
| an g
I|| | -y Iu
p— | [
| II | - |
| | . (1]
(i) | II
11k ) |
b i L _ u .l
¥ R £ #Technical parameters
o s o = = 1 A e FE
)= = N E SR == 5 MEESD RKRESD o it & s
Mgé(?el %Eﬁgﬁf Rated ritary Plé]i(;r c rlrﬁelr}?l;'i(A) Rated pressure | Max pressure Vﬁli’n‘ Discharge rzztse?'e Re%nlairks
9 Speed w u kgf/cm?® kgf/cm? olume capacity ml/min pkgf/cl:nz
220V
MR-2202-400T
50/60HZ r;g}z_zs‘ﬂ%i‘%
220V | 2800%%/ - - E110V
MR-2202-400X 507/60HZ | 50HZ-60HZ 25 0.22 20 50 4L 200-300CC | 30-1000 l!lg}Z_ZSZ{J{;E
220V
MR-2202-410X | ;2200

*BSHTARMN, SXAEFRA
*mode name with "T" is resistant, mode name with “X” is volumetric

4 8E 5 4 mPerformance characteristics

1. {3k 5ok 0 0 B B (8] 5] 2 A1, BB A 161 IR R

2. MFEA B2, 3. 475, REHE200- 300CC/min MEFEMMITMBEHEE, SHETER, A%, REMM.
SHREEAERAMNE (—MEER, —MEER) BG0-3).

4 ARBEEFABERESNEREREMA

(IRERFETEERERABAR)

1.0il supply and intermittent time are adjustable by PC controller. ﬁﬂ E ﬁﬂ
2.With the out of 0il 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc. 8 £ i® —»

There are oil level gauge and automatic oil control device on the oil tank.

The red lightis on when the oil quantity is insufficient, which reminds you to fill it up.

3.There are two valves in the oil pump, pressure regulating valve and unloading valve. (refer to figure 1-3)
4.Metal oil tank can be customized.

(specific lubrication plan can be customized)

E4E iri ' * jEep sy R A ARE A P RSR i
?izﬂ%’ The erlng dlagram Wi:i(ngégn:ection can be C;ﬁ;tomized
24VIRELT
REIFF R
@' R fE AT / IR 1R R AT

. ) oy / 220V
J ] ] ;‘1}1&?&%9@'

f

[ 2NN NN ] ‘ K|_|\‘
112]3 :
olele 112(314|5|6
IL’ ¢ I ,9 I [ A RK)
L T4 L
PLe PIL_C wH

AQ220V AC220V

K& K&

13




B MIRANS
MR-2232B (4L) s 3 EEL 20 50 7 3 3 1 i A

Self-control electric oil lubrication pump
[l

i . 256 168
q ==
| 26 ae S [ —
: | e ® =
o) |l AT ﬂj
i e %& 5
) | 1 | ,—’ﬁf
i ~
| il 9
|
IR [
| |
it [
Wit i | | |
| | |
lii | L
| e =it
= = = = e =2

¥ /R 2 ¥ Technical parameters

. . = - 15 A Sm Ak BE
= = B E R == s MEEN BEREN o it = 5
Mﬂfl E\E/EH%K Rated ritary PIjJK c %”ﬁt A Rated pressure Ma;pressure V‘ET R Discha%e g R ﬁ’ik
ode oltage Speed ower it ) kgf/cm? kgf/cm? olume capacity ml/min pIZZ?/SCL;? emarks
220V
MR-2232B-400T
50/60HZ MRéZJg1B1‘E§E
[£110V
. . 220V 2400 18 0.12 18 35 4L | 200-300CC | 30-1000
MR-2232B-400X 507/60HZ MR%%QZB{{%
[£220V
220V
MR-2232B-410X 507/60HZ

S HTAMIMN, TXARRK
*mode name with "T" is resistant, mode name with “X” is volumetric

EFH A FEMethod ofuse

1. TAERTIE) : HACIRSETH, MBI F AT, MFSETH, RAVEREMIB L TSETHE, RAVEREHUNE; BIRT
SETHE, —TSETRREBME (1-999%) .
2. [E)ERETE): FKIRSETH, DA —NMERERFERINFA, WNASETHE, RBAVERENMIY; R—TSETHE, RNIZEA
V29255, 8] &k At[E) AT 3 #0454 (1-99943 8 1-999%0) .
3.RST ## IREMHBAEHEBRERTERE.
A BBEEFEEBEGRZRT A MRS, FH#HALUB, INTEIR, #mEAMLUBELTR, EEMABINTLR,
5.ERO YRR FMETRE, ERPAIMEFRIRRENRE.
6. HMBHIEARBEBRICIZIEE, FTHANFX—FHANBBIZIZ. KANFX=, BBEIZIZEL.
THEEANRZBRBEHE-, TREBTEFEREFHEEEEFTIHERERE.

(AIRBEFEEEMETREBFR)
1.Working time: press and hold the SET button, release it when the numbers jump, then press A V¥ to set unit digit; and press the button of SET again, to set ten
digit with pressing A ¥ ; press SET to hundreds digit(1~999 seconds).
2.Interval time: press and hold the SET button, release it when the numbers in other Display screen jump, then press A ¥ to set unitdigit; and press the button of
SET for two seconds, the interval time can shift between minutes and second(1~999 minutes or 1~999 seconds).
3.RST: Press and hold this key to relubricate or clear the abnormal alarm.
4.After the circuit power is turned on, the system belongs to the oil supply state, and enters the LUB, INT cycle. When the fuel is supply , the left LUB green light is
on, the right INT red lightis on when the system is on rest.
5.When the ERO flashes, it means that the amount of oil is insufficient, and when the ERP flashes, it means that the pressure is abnormal.
6.There is no power-off memory function in the digital display box, and a small switch is turned on to enter the power-off memory. Turn off the small switch, and the
power off memory stops.

7.There is a key lock function in the digital display box. You can lock the set button after setting the time according to your needs.
(The lubrication program Can be customized according to customers’ requirements)

14




B MIRANS
% R B shiE g H &R 7B k3

Self-control electric oil lubrication pump

MR-2232i&4:81(4L)

256 168
I 212
q @: ® .
| | ] ] { al f i
® 6 @@ "
{ |7 @ &L | | — ﬂ
=1 , H]}
| i [1 [1 A
| il | i\l E
Wikt | N
|II
i I 14
1 | (M
| |
| I| 1Bl
II | |
- e = = < Lz
¥ RS #Technical parameters
c = = 15 A s Ak BE
Mﬂj’?l E\E/Eltﬁﬁi R?teidﬁtl?ry PIj]% c E&;‘ﬁtA Ratgeﬁdipgsjgure Magfgj)(r?szzjre V?ﬁ?'q Digfi%e e Réﬁk
ode oltage Speed ower Uity kgf/cm® kgf/cm? olume capacity ml/min pli;?/ScL:r:? emarks
220V
MR-2232-400T 50/60HZ MR2231k &
B E110V
220V _ _
MR-2232-400X 5076017 2800 25 0.22 20 50 4L 200-300CC | 30-1000 Mr223208 %
B [£220V
220V
MR-2232-410X 50/60HZ

*HISHETHMMR, FXABFHA
*mode name with "T" is resistant, mode name with “X” is volumetric

4 88 5 %5 mPerformance characteristics

1. TAERTIE) : HACIRSETH, MBI F AT, MFSETHE, RAVEREMIB L TSETHE, RAVEREHUE; BIRT
SETHE, — TSETRREBME (1-999%) .
2. [E)ERETE): FKRSETH, DA —NMERERFERINE, WNASETHE, RBAVEREMIY; R—TSETHE, RNIZEA
V29285, (8] &R EtE) AT 3 #0 &% 4 (1-999493 5 1-999%)) .
3.RST ## IREMBAEHEBRERZERE.
A BBEEFEEEGRAZRTHMRE, FH#HALUB, INTEIR, #mEAMLUBELTR, EEMABINTLR,
5.ERO YRR FMERE, ERPAIEFRIRRENRE.
6. HMBHIERRBEBICIZIEE, FTHANFX=FHANBBIZIZ. KANFX=, BBEIZIZEL.
THEEANRZARBEHE-, TREBTEFEREFHEEEEFIHERERE.

(AIRBEFEEEMETREBFR)
1.Working time: press and hold the SET button, release it when the numbers jump, then press A V¥ to set unit digit; and press the button of SET again, to set ten
digit with pressing A ¥ ; press SET to hundreds digit(1~999 seconds).
2.Interval time: press and hold the SET button, release it when the numbers in other Display screen jump, then press A ¥ to set unitdigit; and press the button of
SET for two seconds, the interval time can shift between minutes and second(1~999 minutes or 1~999 seconds).
3.RST: Press and hold this key to relubricate or clear the abnormal alarm.
4.After the circuit power is turned on, the system belongs to the oil supply state, and enters the LUB, INT cycle. When the fuel is supply , the left LUB green light is
on, the right INT red lightis on when the system is on rest.
5.When the ERO flashes, it means that the amount of oil is insufficient, and when the ERP flashes, it means that the pressure is abnormal.
6.There is no power-off memory function in the digital display box, and a small switch is turned on to enter the power-off memory. Turn off the small switch, and the
power off memory stops.

7.There is a key lock function in the digital display box. You can lock the set button after setting the time according to your needs.
(The lubrication program Can be customized according to customers’ requirements)

15




» > ®
AW MIRAN
o o s — I8 78 R RPLCEY

Automatic Grease and Thin Oil Lubrication Pump with PLC Type

MRG-5202(3L)

213 156
— |
©
% = I :
= ! 3 54 ! 2 T
¥ RS #Technical parameters
. ] = = it AR i BE
5= s IR s 5 BEED BRAED . At i & .
Mgi:ij;l E\E/Etzjﬁgf Rated ritary PIéJvﬁr CurErEe/;T;(A) Rated pressure Ma; pressure V(ﬁu*ie Disphaie ; przgtseu?e Re%nlairks
Speed kgf/cm kgf/cm capacity ml/min kgf/cm?
220V
MRG-5202-300T
50/60HZ MRG5202f
F B E220V
220V 60W: 0. 45 B
MRG-5202-300X 2800 60/90 : 25 50 3L 400-500CC | 00# 000#
50/60HZ 90W:0.32 MRG5203ft
220V FH E380V
MRG-5202-310X 50/60HZ

HSHETHERN, FXASFTAR
*mode name with "T" is resistant, mode name with “X” is volumetric

™ B8 5 4F mPerformance characteristics

1. e m00#mAs, Z1EFERO#KKIMAE.

BEERIBH, SNESEMBKER, IWMTHER, FIWHREIT.
CERTHAR, MEXREEXRHIEREERLH.

BETmED, URBIAEL,

UKWRRLENRES—NMAERE, AAEED.
HARBEPEREFNEREREMME
(IRBFEEXEFEEEBERABAR)

o O~ WN

1. Using new thin oil or 00 # grease, prohibit to use 0 # and concentrated grease.

2. It is forbidden to use old oil, otherwise it will cause oil road blockage, mechanical parts wear and affect the operation of the oil
pump.

3. Suitable for resistive, pressurized or progressive butter dispensers.

4. Do not start without oil so as not to damage the motor.

5. The suspension seat on the gear pump has a pressure regulator body to adjust the pressure.

6. Metal tanks can be customized according to customer needs.

(The lubrication program Can be customized)

16




el MIRAN®
MRG-3202(3L) H 5t et B — 1518 3 RPLCRY

Automatic Grease and Thin Oil Lubrication Pump with PLC Type

236
220

200 153.5

o

=

e
il
260

oorer

-T“IH

1
|

U

"

¥ AR5 HTechnical parameters

= = 1 IE 5 1R 55 5 HEE S BREN Zs it & {58 R A B 5
'\%;:_g | E\E'lElﬁﬁi Rated ritary Pljji c EEé/ﬁEt A Rated pressure | Max pressure Vﬁl‘*ﬂ Discha%e Rated pressure Ré’i K
ode oltage Speed r/min ower WA kgf/cm? kgf/cm? olume capacity ml/min kgf/cm? emarks
220V
MRG-3202-300T 50/60HZ MRG22314X &
B E110V
220V
MRG-3202-300X | o0t 1350 25 0.22 20 35 3L | 300-500CC 00#000# MRG22324¢ %
220V
220V
MRG-3202-310X 50/60HZ

*SHTHARAN, TXAEIRA
*mode name with "T" is resistant, mode name with “X” is volumetric

™ BE 5 4F mPerformance characteristics

1. 43k 5ok A0 ) B B 1] =) 3 AL B A IR

2 R Eim2, 3. 47H%F, ntHE@200- 300CC/min, MERAEMAMTMAMNITHEE, HHETEN, A%, REMMH.
SHREEARAANE (—MAER, —MEER) EG0-3).

AARBEEAEREFNEREEHEME.

(IREBEEAFEEBERBRAR)

1.0il supply and intermittent time are adjustable by PC controller. \ﬁl] E‘“ﬂ
2.With the out of oil 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc. i I 1 —»>
There are oil level gauge and automatic oil control device on the oil tank.

The oil quantity is insufficient when the red light is on, which reminds you to fill it up.
3.There are two valves in the oil pump, pressure regulating valve and unloading valve.
4.Metal oil tank can be customized.

(specific lubrication plan can be customized)

E4k E iri i * 4t 5 R AARIE R PRI
]:ﬁ ’i The erlng dlagram Wiring annection can be Clu;tomized

24VIRE LT

=R P S
@' BRI R AT / R 4 R AT

/ —1_|DK

220V
7&&%%

-

)
L)

p S TUTV Ve
1 112|3]4|5|6
* oo olefe]e
L _ L'l i
15E LILT] gl
PLC T

17




el MIRAN®
MRG-3232 (3L) 5 5o 5o s — £ 510 v 5 1 e i

Self-control Grease and Thin Oil Lubrication Pump

236
J f | - 220 ‘ 153.5
(%2 200
00000 ’j a

——gE { =

(e} 14 | R S T

e kTR

& P — ™

el - ‘ — 1o

222
|
&
1

3 R £ #Technical parameters

o = 21 IE B R 2= > HEEN RREN P nt & 5t FA i R BE S
I\%IE? | E\E'/,iTﬁ$ Rated ritary PIjJ$ c r?e?"i(A) Rated pressure | Max pressure Vﬁl R Dischaije Rated pressure Rﬁ’I B
ode oltage Speed r/min @ u kgf/cm? kgf/cm? e capacity ml/min kgf/cm? EIEITE
220V
MRG-3232-300T 50/60HZ MRG2231#t &
B E110V
220V _
MRG-3232-300X 50/60HZ 1350 25 0.22 20 35 3L 300-500CC 00#000# MRG2232/% &
B E220V
220V
MRG-3232-310X 50/60HZ

HBSHFTARMK, TXABTAR
*mode name with "T" is resistant, mode name with “X” is volumetric

7 H 1 B Esetup Diagram on Control Panel 4 8 5 45 = Performance characteristics

1. EpfEEERERAE M LA (UPEKETE) F1 T
(DOWNZE G B (8] ) 3R¥EIKE, H=IMMATEAIIZ200%, BE
A1 . B ERET B IR EIE AR A2 M A A (UPIEHCRT(E]) F0
TB& (DOWNZEAERTIE]) 3R BI&E, B EATIE &KLY
, BER 1o, BENREE—RIRE, BB, %
FIRBAK, BRATUME, FEREERETRERIEZF
B (Man)iZ#E, BIZIEM.

2. MR ERERPIRER, RRENAE, REFENIEER,

BIE—T (Man)iZ, HBERE.
3. HMRERERORY, RNMEARE, MHARBIMERRKRE.

NI . 4. 3RME (Man)RER A SR .

11234 5|6 (IREBEEFAFFEEMERAFTAR)

o o 0/00|o

Pt i 1.Fuel supply time is set by the UP button(extending the time) and

R, 110V220 COM NG NO DOWN button(shortening the time) on the right side of the control
earth wire panel, which can reach up to 200 seconds, with the precision of 1

second. Intermittent time is set by the UP button(extending the time)
and DOWN button(shortening the time) on the left side of the control
panel, which can reach up to 999 minutes, with the precision of 0.1

minute. When setting the time, the beat numberis 1 if you press the
button once. The beat number can be accelerated if you hold down the
button. All the settings will take effectimmediately after the setting is
completed or after the Man button is pressed.

MAN. upP DOWN 2.When the oil pump shows the EPR alarm, it indicates that the

pressure is insufficient. If the the pressure is normal, press the Man

button to eliminate the alarm.

3.When the oil pump shows the ERO alarm, the oil quantity is

i8] & fn =) TR in?uffli'cient, and the alarm will be automatically eliminated after
refueling.

4.Holding down the Man button is dynamic test.

(specific lubrication plan can be customized)

18




B MIRANS
MRG5232 (4L)

TEASRE®E, MRAKKIE. Self-controlled Grease and Thin Qil Lubrication Pump
AR RMAE RS~

’ 295 1705
ql-- = =l
- . |
e oo el D
® e |l 1 E
gl @ (" ©| 0 1© T
1% 7R £ ¥ Technical parameters
c = = 1 ARG B
= o= B E 5% R z 5 MEED RREN s nt i 2 N
Mﬁgt?el E\!}(}ii)ﬂ:f Rated ritary Pch)]vir CurErEe;r}TILt(A) Rated pressure Ma; pressure Vflu;?we Discharge rzgtsi?e Re%]frks
9 Speed kgf/cm? kgf/cm? capacity ml/min pkgf/cm’
220V
MRG-5232-400T
50/60HZ MRG5232f¢
=B E220V
220V 60W:0. 45 -
MRG-5232-400X 2800 60/90 : 25 60 4L 400-500CC |00# 000#
50/60HZ 90W:0. 32 MRG52334%
R EE380V
220V
MRG-5232-410X 50/60HZ

ISHTHERN, HXAFRNX

*mode namme with "T" is resistant, mode name with “X” is volumetric

& B /5% Methods

1. TAERTIE) : BACIRSETH, MBI FEPNAT, MFFSETHR, RAVEREMIB L TSETHE, RAVEREHUY; BIRT
SETH, —TSETREEBME(1-999%),
2. [E)ERETE]: FKIESETH, WE—NMERRRFERING, WNASETHE, RBAVERENMIY; H—TSETE, RRIREA
V9280, (8] 8KAT (8] °] 43 #D 4L 4 (1-99953 F1-999F) .
3.RST # IREWBAEI DB ERFERE.
4 BERBRIZEERRERTA MRS, FHEALUB, INTHEIR, HEMALLUBRR, BERABINTATRE.
5.ERO A¥RETRFMETE, ERPAIMKFIRRENRE.
6. BREPIEARBEEBICIZINGE, FTHANFRX=HEANHBIZIZ. XANFX=, BBIZIZEL
THBEARFRENNE-, TREETFEREFHNEEREEFMERERE.

(IREZEFEEEMERERFR)
1.Working time: press and hold the SET button, release it when the numbers jump, then press A V to set unit digit; and press the button of SET again, to set ten
digit with pressing A ¥ ; press SET to hundreds digit(1~999 seconds).
2.Interval time: press and hold the SET button, release it when the numbers in other Display screen jump, then press A V¥ to set unit digit; and press the button of
SET for two seconds, the interval time can shift between minutes and second(1~999 minutes or 1~999 seconds).
3.RST: Press and hold this key to relubricate or clear the abnormal alarm.
4 .After the circuit power is turned on, the system belongs to the oil supply state, and enters the LUB, INT cycle. When the fuel is supply , the left LUB green light is
on, the right INT red lightis on when the system is on rest.
5.When the ERO flashes, it means that the amount of oil is insufficient, and when the ERP flashes, it means that the pressure is abnormal.
6.There is no power-off memory function in the digital display box, and a small switch is turned on to enter the power-off memory. Turn off the small switch, and the
power off memory stops.

7.There is a key lock function in the digital display box. You can lock the set button after setting the time according to your needs.
(The lubrication program Can be customized)

19




el MIRAN®

# 38 JH B — 14 71 7% i ZRPL CAY

MRG-3202(5L)

Self-control Grease and

Thin Oil Lubrication Pump with PLC Type

160
(©)
i o T T
- ¥ %\J’}
L —=
=0IL: 'H=—
#¥ R & #Technical parameters
= %= 1 7E 5% 1R = B HEES RAED P At & 155 FA 3¢ 4 FE R
s F S Rated ritary I3 c Eﬁﬁt A Rated pressure M:; pressure =R Dischaie Rated pressure =ik
Model Voltage Speed r/min Power o ) kgf/cm? kgf/cm? Volume capacity ml/min kgf/cm? Remarks
220V
MRG-3232-500T 50/60HZ MRG223 &
BE110V
220V
MRG-3232-500X | 520 1350 25 0.22 20 35 5L | 300-500CC 00#000# MRG2232f¢ %
B E220V
220V
MRG-3232-510X 50/60HZ

B SHETHRMR, TXAFTRK
*mode name with "T" is resistant, mode name with “X” is volumetric

M € 5 45 S Performance characteristics

1. {4 Seh Fn (8] 8k At 18] [B] 2 4 BB AR 4R 1R

2 MR EMH2, 3. 4AF, i E200- 300CC/min,MABFEIAGITMEMNIEHEKE, YHEAEN, 4%, REEMHE.
BHREEAEAEANE (— MM AER, —NMEER) BE0-3).

A ARBEAEREHEREB M.

(AIRBEEFSEEHMEREARAR)

1.0il supply and intermittent time are adjustable by PC controller. ‘ﬁ:” E“ﬂ
2.With the out of oil 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc. i & @ —»>
There are oil level gauge and automatic oil control device on the oil tank.
The red light is on when the oil quantity is insufficient, which reminds you to fill it up.
3.There are two valves in the oil pump, pressure regulating valve and unloading valve. (refer to figure 1-3)
4.Metal oil tank can be customized.
(specific lubrication plan can be customized)
ERE iri i * g RTRERAERE
j:§ '£ The erlng dlagram Wi:i(ng annection canﬁge Cﬁ;tomized
24VIRE AT -
@ BIRIERAT iR R AT
/ l-un 220V
J ] i}ﬁ#&%ﬂ
f
AHEHE STV Ve
1 3 31415 11213|4|5|6
L’ ‘ L4 ,9 ojojofe
L J 4% LI gﬁ%
PLC PLC
AC220V AC220V
K Kk

20




A B MIRANS
MRG-3232(5L) ot v S — 1 S5 5 R 1 e i Y

Self-control Grease and Thin Oil Lubrication Pump

= ¥
160
o o o
I —
J 00
- F
ofp s °
[Yo)
‘el
N
A A ’
3 R £ #Technical parameters
= = e B IR = 5 HEE S RKRED o At 8 158 R 3t 4 AT 5
“gﬂgz_ | E\E‘/}iT%K Rated ritary PIjJ$ c B A Rated pressure Ma; pressure Vﬁlﬁ Discharge Rated pressure Rﬁ’I K
el oltage Speed r/min eI urrent(A) kfg/cm? kfg/cm? OlUMe | capacity ml/min kfg/cm? EIMEITS
220V
MRG-3232-500T | 505012 MRG2231# %
BE110V
220V
MRG-3232-500X 50/60HZ 1350 25 0.22 20 35 5L 300-500CC 00#000# MRG2232f%
B E220V
220V
MRG-3232-510X 50/60HZ

ISHTHRFRX, FXABFRA

*mode namme with "T" is resistant, mode name with “X” is volumetric

2 5 71 4515 B [
1. fnaE E REH TR A M LA (UPEKEE) F1 T

(DOWNZEZG B [8]) 2% E, =K BATEAIE200%0, H¥E
A1 #. BEBTEREHERAZMNKS LA (UPEKREE)
TF (DOWNZEFERTIE]) 3B ZE, [8EXATE &K ATIX999%

W, EERO. 1. BHENEERR—RIRE, BB, &
FIRBAW, BT UME, FEREERETEKEHIZF

B (Man)iZiEfE, BIREN.
2. MR ERERPIRER, RNENTRE, WEENIEER,

BiIR—T (Man)iRi#, HBRME.

3. AR ERERORT, RmHMEAE, MAGEENEKRIRE.
4. 3R1E (Man)RER B 23500 .
(AIRBEPFEEHMERARAR)

1.Fuel supply time is set by the UP button(extending the time) and DOWN
button(shortening the time) on the right side of the control panel, which can
reach up to 200 seconds, with the precision of 1 second. Intermittent time is set
by the UP button(extending the time) and DOWN button(shortening the time) on
the left side of the control panel, which can reach up to 999 minutes, with the

precision of 0.1 minute. When setting the time, the beat numberis 1 if you press
the button once. The beat number can be accelerated if you hold down the
button. All the settings will take effectimmediately after the setting is completed

or after the Man button is pressed.

FEil—o =0

k 110Vi20V COM NC NO

DOWN AN. DOWN 2.When the oil pump shows the EPR alarm, it indicates that the pressure is
insufficient. If the the pressure is normal, press the Man button to eliminate the
alarm.
3.When the oil pump shows the ERO alarm, the oil quantity is insufficient, and

[8] &% hn J=%-] TEMmMREL the alarm will be automatically eliminated after refueling.

4.Holding down the Man button is dynamic test.
(specific lubrication plan can be customized)

21




B MIRANS
RGH-1202-100T00

Semi-automatic Grease Lubrication Pump

&3 Opouring orifice

—0IL

1 7R 2 i Technical parameters

BT Operating mode PLCE 5 1 2 3
AE VE I R ) Max.discharge pressure | 0~100Kgf/cm?

VE = Theoretical discharge 50ml/min C D
L H R Motor voltage 1$220VAC

% 2% B The wiring diagram

AL Motor power 40W
TE AT E YL E Viscosity range NLGI 000#~3# N L
A AR Reservoir 1000ml

N m\ﬁ B N7 =l
HE O Outlet pipe d6mm ;ﬁzhl_ﬁbu,tﬂ I_o oJ
&R % Applicable system A AC220V

M 8 5 %F miPerformance characteristics
1. 44 Jeh 0 i) B8R B 8] [] 3 471 B A 42 31 3R 2
2. M AEHIL, 1.5L, IHHE50ml/min M BEB BT
S HEMHEREAXRBIERMIEBER CREBEIFAMNMENFEEEIHOLE ZRABTHRAXNSESFR
HEBEENMBEES ZRAFN EHREX T ZATRIL/MEESIUFNMRENEPIEBRSE P,
1. Oil supply and intermittent time is settled by host computer.
2. The fuel tank capacity is 1L and 1.5L, and the discharge amountis 50ml/min.The tank has an oil level gauge.
3. The electric oil pump is driven with AC power grease pump. The grease will output unceasingly through the motor
and mechanical transmission. The pump can be used to resist distributor which will inject grease into lubrication
points. The pump has a small volume and large output flow. It is widely used in the centralized lubrication system of

lightindustry/forging and pressure automation equipment.

22




B MIRANS
RGH-1232-110T

Automatical Grease Lubrication Pump

M Opouring orifice

EMA butteftank

installing hole

pressure . %gﬂﬁg
BHA guage minimum height to ground level
junction box EAE §

| ? iﬁ:ﬂ‘lnstallmg hole

pressure
regulatlng valvg

227
butter outlet
F R 5 #Technical parameters % 2% B The wiring diagram
BT Operating mode Hh EE 7 2 e i 47 ] 1 2 3 4

AE VE I R ) Max.discharge pressure | 0~100kgf/cm?

VE = Theoretical discharge 50ml/min C D
L H R Motor voltage 1$220VAC

L T % Motor power 40W
JE I MR L Viscosity range NLGI 000#~0# L
AR AR Reservoir 1000ml

—— -
H 0 E Outlet pipe d6mm IﬂZLLEﬁb.tH oJ
&R % Applicable system A AC220V

% BE 5 4F mPerformance characteristics

1. hERE RS ERA M LA (UPIEKATE) T (DOWNGEEERTE]) 288 E, &= KEMAMTETR2008, 1 E H1
. BEIREBREEERAME EAH (UPKATE) AT (DOWNAEERTIE]) 24 %E, HE AR KAIIA99D &, BE
RO N, BTENE ERIR—IXIRE, BEah# A, REREAK, BT LUMRE, MEREERETREG & (Man)EfF, A

ZE.

2. Hh R ERERPIRER, RRENAE, REEHEER, BIR—T (Man)ikH, HRRE
3. é;ﬁﬂzﬁiTEROET %T/&ETE maE EEJJ:I*IF??&EQ

4 3ZME Man) IRBEA KA SR .

(AIREBEFEEEMERERAR)

1.Fuel supply time is set by the UP button(extending the time) and DOWN button(shortening the time) on the right side of the control panel,
which can reach up to 200 seconds, with the precision of 1 second. Intermittent time is set by the UP button(extending the time) and DOWN
button(shortening the time) on the left side of the control panel, which can reach up to 999 minutes, with the precision of 0.1 minute. When
setting the time, the beat number is 1 if you press the button once. The beat number can be accelerated if you hold down the button. All the
settings will take effectimmediately after the setting is completed or after the Man button is pressed.

2.When the oil pump shows the EPR alarm, itindicates that the pressure is insufficient. If the the pressure is normal, press the Man button to
eliminate the alarm.

3.When the oil pump shows the ERO alarm, the oil quantity is insufficient, and the alarm will be automatically eliminated after refueling.
4.Holding down the Man button is dynamic test.

(specific lubrication plan can be customized)

23




B MIRANS
RGH-1202-110T

Semi-automatic Butter Lubrication Pump

E]O or Bt Bbuttertank

installing hole 8
AN ossure BAOBMELE B
BHe p minimum height to ground level

B9 8

junction bo

2

pressure —
regulating valve |(

butterinlet
227

butter outlet

$¥ 7R & i Technical parameters £ 2% B The wiring diagram

L[N Operating mode PLCIE ] 1 2 3
€ VE M R 7 Max.discharge pressure | 0~100kgf/cm?

FAERIIIRTN Theoretical discharge 50ml/min C :)
HL AL HL R Motor voltage 1$220VAC

L Ih % Motor power 40W

RS S Viscosity range NLGI 000#~3# (I_)N L
il 8 7 A Reservoir 1000m|

HH A Outlet pipe ®6mm ST A3 6 |_° oJ
EHASR Applicable system P AC220V

4 §€ 5 4F S Performance characteristics
1. 42 51 0 8] &k B (8] [5] 3= 41 BB A ¥ 1) 3% 7€ .
2. AR EAHIL 1.5L, HHEE50ml/min, AEFBVWBAMTMENTHEE, HHETEH NS TERERE
EEMM.
S HEMHEREARBIERMNEFER CEREBEBIFAMNBEDEEFEAHGLE ZRABTHRAXNSESFR
EEBEINMBEEHES ZRRBMAUREFX ZERERNMNAEREX ZRZATRI/BEBNUEN
WEENERABTRE P
1. Oil supply and intermittent time is settled by host computer.
2. The fuel tank capacity is 1L and 1.5L, and the discharge amountis 50ml/min.The tank has an oil level gauge.
3. The electric oil pump is driven with AC power grease pump. The grease will output unceasingly through the
motor and mechanical transmission. The pump can be used to resist distributor which will inject grease into

lubrication points. The pump has a small volume and large output flow. Itis widely used in the centralized

lubrication system of light industry/forging and pressure automation equipment.

24




B MIRANS
RGH-1232-100T

Self-control Butter Pump

|: o P e polyester coil tube

BRE

junction box

regulating valve

butterinlet

227

butter outlet

1 7R 2 i Technical parameters

AR Operating mode 24 e i 47 21 1 2 3
AE VE I ) Max.discharge pressure | 0~100kgf/cm?

VE I = Theoretical discharge 50ml/min C :)
L H R Motor voltage 1$220VAC

ML Ih % Motor power 40W
kG FE S L Viscosity range NLGI 000#~3# N L
A A Reservoir 1000ml

—— - g
i O Outlet pipe ®6mm S {37 4 |_° OJ
EHASR Applicable system LA AC220V

4 BE 5 4F mPerformance characteristics

1. P ) B B AR A UMD B (UPKEHC AT 8) I TRE (DOWNZZERRY (8) 324238 %, &4 M3 A (8 AT 3620085, 5 41
. EEEE RS ERAENG S (UPIEKETED R (DOWNGRIERTED %%, B EA S KTX995 5, BER
0. 194, BHENRER, B—IRE, HIBON, BERETH, BMSHTUME, FEREERERRE, & Man)@/E, B
2EH .

2 MHREERERPIRER, RRENTE, REENEEN, BR—T Man)ii@, HEBRE.

3. 3R BREROM, RFHENE, MG EEBIRE.

4B (Man)RERHA S .

(TREZFEEEMERESR)

1.Fuel supply time is set by the UP button(extending the time) and DOWN button(shortening the time) on the right side of the
control panel, which can reach up to 200 seconds, with the precision of 1 second. Intermittent time is set by the UP
button(extending the time) and DOWN button(shortening the time) on the left side of the control panel, which can reach up to
999 minutes, with the precision of 0.1 minute. When setting the time, the beat numberis 1 if you press the button once. The
beat number can be accelerated if you hold down the button. All the settings will take effectimmediately after the setting is
completed or after the Man button is pressed.

2.When the oil pump shows the EPR alarm, it indicates that the pressure is insufficient. If the the pressure is normal, press the
Man button to eliminate the alarm.

3.When the oil pump shows the ERO alarm, the oil quantity is insufficient, and the alarm will be automatically eliminated after
refueling.

4.Holding down the Man button is dynamic test.

(specific lubrication plan can be customized)

25




RE&LR R

&
0 O

4-07. 5

el MIRAN®

(BN series cycloidal pump)

I —

140

o
i

Motor pump < 0 e
. 70
A E Modell B4l Motor B2 %E Cycloidal pump
M-BMA-10A =4 (Three-phase) 380V 50HZ 1/4Hp BMA-10A
M-BMA-11A =#%8 (Three-phase) 380V 50HZ 1/4Hp BMA-11A
M-BMA-12A =# (Three—-phase) 380V 50HZ 1/4Hp BMA-12A
M-BMA-13A =48 (Three-phase) 380V 50HZ 1/4Hp BMA-13A
M-BMB-1FS = (Three-phase) 380V 50HZ 1/4Hp BMB-1FS
M-BMB-2FS = (Three—phase) 380V 50HZ 1/4Hp BMB-2FS
M-BMB-3FS =18 (Three—-phase) 380V 50HZ 1/4Hp BMB-3FS
. "
‘ ‘ = g;‘bﬁ%%fhﬁﬁ, HWME, BMTR, REE, B
IRA%GRRE (ATEER) || o FE#?E’\J%&?E%H, ERTHEHBREHRHREES
SR [

12

18
38.5

WERL RO RIT L AHREEREZLRRE, M
BIRBN AL B — A,

WERL RO HOMEBORERE, RAEEE
RE.
EAF—MRIE. SEENM. 0: FEKR. EEERKR. #
A, FEN. MR, SRE.

me Bignt 48 . & . SAEN & 4t R N IR £ |
’ d?l Theoretical Discharge capacity (L/min) | Max pressure |Max. rotary| Entrance outlet A Weight
ode discharge capacity (1500rpm) (1800rpm) (kgflcm?® speed thread (kg)
1RA-2FS 1.8 2.7 3.24 5 2000 PT 1/4 50 1.1
1RA-3FS 2.5 3.75 4.5 5 2000 PT 1/4 55 1.2
Ihee
ok & BERAENEE, BRME, WaTR, RER, &
=z 3-o7 EREFNSH RSN, EATHBRRETNIKREZELE

b=

ERATMMmHEEE: 30cSt-150cStéa MR iE .

2-E |
g a
S A
N (o) (a) ° g f :l = L(LS i
< @ '—Ld Cé? Function
~ ﬂ The structure of pump is simple , strong self-
e absorption, stable oil flow, low noise, and have a good
25.9 = 25.99 A B (S] high speed characteristic, which is suitable for low
71 pressure continuous lubrication in lubricating
D system.Applicable oil viscosity: 30cst-150cst to pump.
s = it = .
e f_%;l@ﬂi?jg; Discharge capacity BKRED R e IR H:.')\(IE)T%?I B2
Nedal di‘:gﬁzrﬁ: (L/min) Max. pressur | Max. rotary | ¢ 2 A B C| D | Weight
capacity(cc/rev) (1500rpm) (1800rpm) e (kgf/ecm® speed(rpm) outlet thread (kg)
TOP-10A 0.8 1.2 1.4 5 3000 PT1/8 40 10.5 8 [58.5| 0.5
TOP-11A 1.5 2.2 2.7 5 2000 (pT1/8,PT1/4| 49 | 10.5 | 8 | 68 | 0.55
TOP-12A 2.5 3.7 4.5 5 1800 PT 1/4 56 11.5 8 | 76 0.6
TOP-13A 4.5 6.7 7.5 5 1800 PT 3/8 62 14 5| 82 0.8

26




B MIRANS
MTE FR X EBBHE

Hma e
B(mL
HE(mL/cy) T
X|TF&HO
FHETE HHOER
3%&8££§§ LIEFE AETYS
RIAEFE DELS

195-235

136
ey

MEEERFR:

1R, REAE. FAES. WEYFRERGHMER. BF
T MEEKRT EASHEB AR

2. ERTHBRGRE RN

3.HMFEE : 20-150cst.

Performance and features:

1. Small size, easy to use and install. With anti-backup
device to avoid oil backflow. It is commonly used in places
where lubrication is not strictly required.

2. Applicable to simpler lubrication system.
3. Oil viscosity: 20-150 cst.

ABBESREREY

BEME it oL HHOEE FRER Ao 5 0175 1 £8
Spec-i?_ications MaX|n’1)l:;nsgLsrgharge Dgﬁgiﬁe Outletmanaggement Handle f;rm Fc:eplatg{"yk Outlet direction weiit
MT-8L L FELeft
mEgEBT
0. 5MPa 8ccl/cy 45, ©6 600cc Up or down 0. 9kg
MT-8R & F [Eright
1) %5 j;": . :‘-J NI
ML B F 5 3\H78
ok
MEESH R
TR, REFE. EAGS. MEEREHR
= ';’E‘;; HMER . BT mEE R4 A8 .
5 N NEnN 2 e )
sThosz| 2 ERMTHBRGRE SN,
FHB 3. MMmEEE : 20-150c¢st.
LIZFE Performance and features:
RIGFE 1. Small size, easy to use.and install. With anti-backup device
it E(mL/cy) to avoid oil backflow. It is commonly used in places where
?6— lubrication is not strictly required.
2. Applicable to simpler lubrication system.
8 8 3. Oil viscosity: 20-150 cst.

150

fmm
o
=
N
I
= (ML-6) (ML-8)
ABESREARSH
S 4 IS nt t Hh O ER FHRR e SO i
Spec;?_ications Maxnr:)l;;nsglljs":harge Discharge ;Emount Outlet manaEg{ement Handle ftI)rm Fcua(;lat;?yk Outlet dir?ction weiag}n
ML-6 350ml 1.2kg
1. 5MPa éml/cy Q45 06 EA mLEgEET
ML-8 600m | 1. 4kg

27




Bl MIRAN®

BN R AEERER (BRENEBERS)

(©)
lass |

[opaay=y mESEE
Lidﬁ?@lﬁety Flow range
(cc/min)
SHEED
Xk, §E¥ Water, alcohol 0.3~30 G?g_ psrl\igsau)re
105 =R E #h _
No. 10 high-speed main shaft oil 0.2-25

%Eﬁ&ﬁﬁ?éﬁwzﬁﬂ,Eﬁ%%m%%%%ﬁﬁé

gg?f%hulﬁ, ﬂaiﬂaﬁfﬁil‘fiﬁﬁo /7%”%5[%1:&:;‘#%51?/@ MPV—

B, BEZWE, UEALEEERMIRRK, WO MR B —
=it 2 =] 7 | #issim
VEMISIETAM, B, RBRKBA—XER. Sl ZE TR LR
2 REN LA, BAMTHELER, Fi7 L IRz TTT
3 ENTMIGROHRENAREEANR. BT B | wm
4 MIGERBBMER, TAKXETRE. SHEEIRE, AABANE G SHEMAER
s EMEA SR, TBLRHER, LKERSS. a] o il os
6. EHMABMEERN, EFEANEEGERER. 6] o¢ 6| o6
N 8 ®8
AEED:

1 EERABEZIRIE.

2R NERR MM 2R

;zgﬁ%E%EO&O7Wa(gwﬁ%ﬁﬁi,%ﬁﬁ

435 P A FEEE - 0-680St.

ERTHE:

R, $hIK, BER, BIK, WIFH, TJEFEH, CNCHL

B, MR, B, KLALM, ERZ.

This product applies vacuum self-suction principle to make the liquid atomized by nozzle and air.

Spray to the work—piece, tool bearing and other lubrication points.Good cooling effect, lubrication, Clean and other functions
to improve production efficiency and quality, and reduce the loss of mechanical tool.
During the process, cooling, lubrication, blowing off iron filings can be completed at one time.
It can improve machining speed, save machining time and cost and reduce tool wear.
Help to ensure the quality and the best use of the tool.
Processing alloy or super hard material can also achieve smooth and high precision surface.
Increase the sealing method to avoid internal leakage and prolong service life.
Different parts can be used for different fixed ways.
Notes:

1.Use clean liquid.

2.Do not use corrosive liquid.

3.Air pressure range 0.5-0.7MPa. (atomization effect is related to air volume and air pressure)

4.Applicable liquid viscosity: 0-68cSt.
Usage:
Lathe, drilling machine, milling machine, grinding machine, tapping machine, cutter grinding machine, CNC machine
tool, punching machine, sawing machine, woodworking machinery, feeding machine, etc.

28




B MIRAN®

MY & F [£ 7V E 8 H R

MY -

il O &=
4 | 04T
6 | 3% O6E

F 75 15
L| £F&F
R| £F&

it HE(mL/cy)

MRESHR:

TIZHARBEER, ETFRIPHMRNEEER, FHEM

@
‘ @ e B, EHEANER TEEESHN L.
191 —— = 191 L REAERRAR SR BARETBRS, EAT IHERK
o s 5%, B3k, 150 EB A A& MHIEEEE.
;ﬂ*ﬁﬁ!?&?ﬁﬁééﬂ K. E33IK ™ g LA B & FhE R IR
1= B AR E 5 - - o~ Pp—— -
Spiﬁﬂﬁns Maxin;l:;nsglijsrgharge Dischaurigfagmount Outlg:tII ;ﬁatrl]aggg:ment erl(*ii,lij/f;trm Ouiiljetﬂidtilr?c[t‘i—]on W%iit
MY-5L 3-5cc/ EFE
0.4MPa :$E£°%% O48 ©6 500cc 0. 7kg
MY-5R 8 AT HFEright
-\\‘I A N\ 3 : : b
MG F#EEEHER
- 125 —
- I MG
.'II |I |
e | ! B
.'III |II E | .‘_70_,,|
'II |I vy .I. |
e [ R\ mones =8 =
o] ©f U8 e e if/ E[ T 0 [
¢ :(' EJ |I s '_'_Jfﬁ et v X| wHE
e VSN Xin P
MEESH A HEEE ()
1 REXRARER, MEHE. 03| 300
2. FBE, ERAEE. 58, 05| 500
3. EFARIBE hAE, T EME ML, 08| 800
4 TTEEEREBSHELN, T5TRARSREXSa DB IREREFER.
RS M 4% RAMEEAD | MEE | HHOER it O % HESE Hih O A5 ER
MG-03 300ml
MG-05 100kgf/cm? 2ml/cy ®4/06 1-34 500ml mEgKEET itk
MG-08 800ml
29




MV /MKR] E 43 B 28

el MIRAN®

2= AO0O%® HOoAa® €O A B

MV024-04 o4 o4

MV026-04 6 o4

MV026-06 6 6 2 47 37

MV028-06 8 6

MV034-04 o4 o4

MV036-04 6 4

MV036-06 06 o6 3 62 52

MV038-06 8 6

MV044-04 o4 4

MV046-04 6 o4

MV046-06 6 6 4 7 67

MV048-06 8 6

MV054-04 o4 o4

MV056-04 6 4

MV056-06 ©6 ©6 5 92 82

MV058-06 8 6

MV066-04 6 o4

MV066-06 6 6 6 107 97

MV068-06 8 6

MV076-04 6 o4

MV076-06 6 6 7 122 112

MV078-06 8 6

MV086-04 6 o4

MV086-06 6 6 8 137 127

MV088-06 8 6

MV096-04 6 o4

MV096-06 6 6 9 152 142

MV098-06 8 6

MV106-04 6 o4

MV106-06 6 6 10 167 157

MV108-06 8 6
#F: WKETBHMBEAMRTSHENWHEE . AIARAERTIREBE PR EFLALE M

M E X243 B 2§ (55 & €) ME two-way coupling body(aluminum alloy)
tEIMERTE ¥ &Ed3
standard configuration dimension figure /ﬁ% tube
41 -h_uas-«n AR W e 33
Main tube n ﬂ n ﬂ r Maln tube
2-06.5 BHEE 6on
I Thickness of Distributor

&l Smodel d1=d2 d3 H 5 O # ENumber of oil outlet A(mm) B(mm)
ME-6-8-8 M8X1 M8X1 4 36 48
ME-6-10-10 M10X1 M8X1 4 36 48
ME-8-8-8 M8X1 M8X1 6 52 64
ME-8-10-10 M10X1 M8X1 6 52 64
ME-10-8-8 M8X1 M8X1 8 68 80
ME-10-10-10 M10X1 M8X1 8 68 80
ME-12-8-8 M8X1 M8X1 10 84 96
ME-12-10-10 M10X1 M8X1 10 84 96




1575 % 4 o) Br &S

EEM
Ho ®4T M8x1. 0

=
B

B MIRAN®

A
2 1 -~ B 6
T T b W = 16 15
A ®6 '1\/'%1051&0 }@ @ \LDE
] «—  FE=—TH1 |05
M10x1. 0 ﬁ ﬁ
% 1 T1
é"k': ﬂ@ Q‘lI % N\N-M8XP1.0
(ME082)
B FEIXEER O A B &ix
MEO041 ®4/04
MEO042 d6/04 4 48 36
M E 043 ®6/06
MEOQ061 ®4/04
MEO062 ®6/04 6 64 52
MEO063 ®6/06
X071 T 4R 48 2 £
ME081 ©4/04 & FL AL
MEO082 ®6/04 8 80 68
MEO083 ®6/D6 The hole can be
customized
ME101 d4/D4
ME102 ®6/04 10 96 84
ME103 ®6/06
ME121 d4/04
ME122 ®6/04 12 112 99
ME123 ®6/06
MVA] i 573 B 8% MK $i LE 31 7= AT 38 5 Fic 25
Entry
AO o6
—_
Exit HH [0 ©6 N%%T'Esoleeve Bearing
Akt A AR Ly Entry
AQo8
® s T
Sleeve Bearing
ppsirs : 2 4 X B : M14x1. 5

R

R1/8/ ILITT LI

G- B

31

(MK058-06)




B MIRAN®
EHE R %7 e 35

MB 43 fic 2% MB 4 i 25 R <1 [&]
A
6 B 6 6.2
16 Q8
6
< 16 |
e T
T \ T1

AO®6
M10X1.0

\ ‘
L Al b~
(MB083) ‘@<@ )( @@‘ —
= ! \ F=
s T/T1 HOoAa& HO#% A B
MB042 ©4/D6 4 48 35-36
MBO043 6/ 06
MBO044 6/ 06 2-06
MBO051 ©4/ 04 3.04
MB052 ®4/06 5 64 51-52
MB053 6/ D6
MBO054 D6/06 3-06
MB061 ©4/ 04 4-04
MB062 ©4/D6 6 80 68
MB063 ©6/ D6
MBO064 D6/D6 4-06
MBO71 ©4/ 04 5.04
MBO072 ©4/D6 - 7 96 84
MBO073 D6/D6
MBO074 6/@6 5-04
MB081 ©4/ D4 6-04
MB082 D4/06 8 112 96-100
MB083 ©6/ D6
MB084 ®6/ 06 6-06
MB091 ©4/04 7.04
MB092 ©4/ D6 9 128 116
MB093 ©6/ D6
MB094 D6/D6 7-06
MB101 ©4/ D4 8-04
MB102 ©4/06 10 144 132
MB103 ©6/ D6
MB104 ®6/ 06 8-06
MB121 ©4/04 10-04
MB122 ©4/ D6 19 176 164
MB123 ©6/®6
MB124 D6/ D6 10-06

32




el MIRAN®

FRAHM OB S

|

FRAMHBEOME
58P0 e O E

E=HmOmE
B HEOME

—FE—MhmnmE

5 O 30

2 | O gof | 4 | im0 g
3 | ssmOgahr | 5 | O st

BRARSH

BE O A B REHE (nl/oy)
LD2 2 69 39
LD3 3 86 54 0.1;0.2
0.3:;0.4
LD4 4 102 69 0.5;
LD5 5 116 84
s B F RISk
CGE: HFAHHOHEE—HN, RA— HRERT)
fi1: LDS-2% R ASII AR E, 81, 2,3,4,5 th i O3 8 2 350 2mi K :

12:L.D5-53235% 7~ A5 4 Bl 88, 21,2 ,3 4,54 3 O & 4 $140.5; 0.3;0.2;0.3
" . . ) ;0.5mIgR .
: Y LY, L . HeR: 7, 8; 9; 106, K5IA2; 3; 4; SMIAA. 6 AMISIIRES.

* oil quantity representation method:

(note: when the oil value is the same, only one oil value is used)

Example 1: LD5-2 indicates LD model and the amount of 1 and 2 oil outletin 2
allocator is 0.3ml each time.

Example 2:LD5-53235 indicates 5 allocators, and 1, 2, 3, 4, 5 outlet flow rate
respectively is 0.3ml, 0.5ml, 0.3ml, 0.5ml, and 0.4ml each time.

Note: among them: 7,8,9,10 bits is the combination of 5 bits and 2,3,4, or 5 bits.
The 6 bits, the combination of 3 and 3 bits.

5
B
<

(OiRiEd (2) EEmMEES @)itExY (4)RbihidIE  (5) REiHTEEE

TERE: A HEFEENFETRES . PHENEBHETERLLE, NABREZBANEIENIN, FREHERNEEBEEF RN, BIBBECEXEFEZIFN. Z
EARERTHEEZEQ THHESEEERSH, ANMHTHESH, YEEARHERER (BE) , SHEBEENEMaE, RANFABHLEOE, FREE
At 8 & MBI OB BB RMEEEER, FSHI ST EERNRE. MEHAIERSNGEE, AMHIASENETRIER.

A: metering piston action schedule B: the action trip of the umbrella type two-way valve is shown in the figure above. The oil from the lubrication pump is injected
from the director A, and the umbrella-type two-way valve B is pushed open. Push the piston chamber to F through the channel C.The piston moves downward under
the action of pressure oil.

The spring G is compressed.Thus the measurement of oil storage.When the oil pressure is released in charge of A(the discharge pressure). The umbrella valve B
moves with pressure difference. At the same time, it opens the outlet E, so the living room measures the oil storage.

The oil is transported to the lubrication point by outlet E to the pipe H, and the signal pin | is prominent when measuring the oil storage. When the oil is supplied to
the lubrication point, it is retracted to confirm the completion of the distribution.

33




el MIRAN®
g M 1

[E] T R % 3k A I8 4 Sk

28 ‘
©
o5 16 ,—<®T’ [~
19 o — I q P22 Nep.5)12=T
N R S R PN B 47.5
&
E-Smodel MPJ04 MPJ04
#i&specification D4-04 »6-06
= Bz T T1 E%(g) T M8X1 M10X1
MJ0808 d4x D4 M8x1 M8x1 23 3 #5 (1) Filtration accuracy 20
MJ0810 ®4x®6 | M8x1 | M10x1 | 22 bt el o cppleelen AR AR
[E fPressure (kgf/cm?) 25
MJ1010 ©6x®6 | M10x1 | M10x1 | 20 et
£ A # @Maximum flow (L/min) 1
P %5 EEOIl viscosity (cSt) 30-250

ZBE/ = @Bk BEiEsk

T A

S &z | od L T T H | 2 (g
me oy - T L2 |E8 MD0406 o4 | 25 | 18 M8X1 MeX1 10 6
MKDO04 04 M8x1 | 28 | 195 | 15 MD0406-1 | ©4 | 25 | 18 | msx1 | MeX0.75 ) 10 6
MKDO6 ©6 M10x1 30 29 26 MD0408 4 3 18 M8X1 M8X1 10 6
MD0410 o4 3 18 M8X1 M10X1 | 10 8
MD0418 4 3 18 M8X1 PT1/8 10 8
S At S 43 S
VL B/ PO B 2K MD0414 o4 | 35 | 18 M8X1 PT1/4 14 17
| 6.5 15 MD0618 6 4 18 | M10X1 PT1/8 10 8
. | i MD0608 ®6 4 18 | M10x1 M8X 1 12 8
I
| ! 4T — — MD0614 ®6 5 18 | M10x1 PT1/4 14 14
L MD0610 °6 3 18 | M10x1 M10X1 | 12 8
MD0818 ®8 5 26 | M14X1.5 | PT1/8 17 22
;S B T L1 E=(9) MD0814 8 6 26 | M14X1.5| PT1/4 17 26
MJD04 o4 M8x1 28 19.5 MD1018 ®10 | 5 28 | M16X1.5 | PT1/8 19 29
MJDO06 6 M10x1 30 22 MD1014 ©10 | 7 28 | M16X1.5 | PT1/4 19 33

34




i1 7B B

el MIRAN®

£ [5) B 35 Sk
T L
= i ¢2. 4 SR \ — £2. 4
1
= =R L T T1 H E-4()) ilR=s =52 L T T1 H ES--4())
MDO0418A o4 26 M8x1 PT1/8 10 11 MDO0418B o4 26 M8x1 PT1/8 10 11
MDO0618A D6 26 M10x1 PT1/8 12 14 MDO0618B D6 26 M10x1 PT1/8 12 14
HEEHEL HAREL
L1 N L1
4
N <] =) .
N N
=< ez. 4 Eg
L= ER| L1 | L2 T T1 H [E£(9) e =z | op | L1 | L2 T T1 H E8(g)
MHO0418A | ®4 | 18 | 20 | M8X1 | R1/8 | 14 14 MH0406 ®4 [ 2 | 18 |18 | M8X1 M6X1.0 10 12
MHO0618A | ®6 | 20 | 22 |M10X1 | R1/8 | 21 21 MH0406-1 | ©4 | 2 | 18 | 18 | wmex1 | Méx0.75 | 10 13
MHO408 | ©4 | 3 |18 | 18 | M8X1 | M8X1.0 | 10 13
MHO418 | ©4 | 3 |18 |18 | m8x1 | PT1/8 10 13
R B fBiEk MHO414 | o©4 | 4 |20 | 22| Msxi PT1/4 14 32
MHO608 | ©6 | 3 |20 |20 | M1ox1 | mext.0 | 12 20
1§ - MHO610 | ©6 | 4 | 20 | 20 | M10X1 | M10X1.0 | 12 20
S\ > ) MHO618 | ©6 | 4 | 20 | 20 | mM10ox1 | PT1/8 12 20
3 MHO614 | ©6 | 4 | 20 | 22 | m1ox1 | PT1/4 14 29
- ] MHO818 | ©8 | 5 | 26 | 29 | M14x1.5| PT1/8 17 52
P2. 1
MHO814 | ©8 | 6 | 26 | 29 | M14x1.5| PT1/4 17 56
me |ma| 1] e T T H |28 MH1018 | ©10 | 5 | 29 | 31 [ M16x1.5| PT1/8 19 70
MH0418B | @4 | 18 | 20 | M8xX1 | R1/8 | 14 14 MH1014 | ©10 | 7 | 29 | 31 [ M16x1.5| PT1/4 19 70
MH0618B | ®6 | 20 22 | M10X1 | R1/8 21 21

35




el MIRAN®
JE g M 1

£ EE0HEE K EE/E

E&
H
IG5

od —=& L

T --
i, ¥ b

BS B | od L T H | E2(Q) iR sz od oD L EE2(g)
MAO04 o4 4.1 12 M8X1.0 8 3 MBO04 4 4.1 6 4.5 0.3
MAO04-1 o4 4.2 12 M8X1.0 8 3 MBO06 6 6.1 8 4.5 0.6
MAO06 ®6 6.1 12.5 | M10X1.0 10 4 MBO08 ®8 8.1 11 7 2
MAO8 ®8 8.1 14 M14X1.5 14 9 MB10 ®10 10. 1 13.5 8 3
MAO10 ®10 10.1 15 M16X1.5 16 10

ERAME R E yE B B Sk

14

4 11 _ —‘ 30.5
\__\‘. ; " y -._. i v A (Q. ]
. - = 1 \{ —
- T
B A B E2(9) B E& T T1 E=(9)
MFO04 o4 2 0.1 MW0418 o4 M8X1.0 PT1/8 28
MWO0618 6 M10X1.0 PT1/8 26
MF04-1 o4 ©2.5 0.1
MWO0118 PT1/8 PT1/8 26
MFO06 6 o4 0.2

4218/ 15 3 12 5

) o T1AZF T25N5F
ILI 2 SModel (inter thread) (outer thread)
¢d&_ ] MBX1814 PS1/8 PT1/4
H . MBX1438 PS1/4 PT3/8
BS Bz od L T H [E£(g MBX3812 PS3/8 PT1/2
MPO04 o4 ®4.05 13 M8X1.0| 10 3
MBX1234 PS1/2 PT3/4
MBX341 PS3/4 PT1

36




el MIRAN®

i1 7B B

E B B ARk dE=18

£ 30.5 14
e —| 39 .
o N £ gi '
G , N T1 . — —I— =
T12.6 \& \2.T1
T % T
= = T T1 E22(g9) A= BS T T1
MC0418 o4 M8X1.0 PT1/8 38 BGT0806 4 M6X1.0 M8X1.0
MC0406 o4 M8X1.0 M6X1.0 38 BGT0808 o4 M8X1.0 M8X1.0
MC0408 o4 M8X1.0 M8X1.0 38 BGT0818 o4 PT1/8 M8X1.0
MC0118 PT1/8 PT1/8 36 BGT1006 o4 M6X1.0 M10X1.0
BGT1008 ®6 M8X1.0 M10X1.0
BGT1018 o6 PT1/8 M10X1.0
THE ARk FLA = @Rk
W
% L1
@d
e Ay, ]
= (O &
# 1 D
T T1 Vv
B BER|od| L T T1 H |EZ£(
BE T L1 L2 W E=(9)
MI0408 o4 | 2 | 21 M8X1.0 | M8X1.0 | 12.7 15
MI0410 o4 | 2 21 M8X1.0 |M10X1.0| 12.7 15 MT18 PS1/8 27 21 14 34
MI0418 o4 | 2 | 21 M8X1.0 PT1/8 | 12.7 17
MT14 PS1/4 31 25 18 47
MI0408Z | ®4 | 2 | 21 M8X1.0 z18 | 12.7 17
MI0618 ©6 | 2 [22.3| M10X1.0 | PT1/8 | 12.7 15 MT38 PsS3/8 40 31 21 86
MI1818 25| 21 PS1/8 PT1/8 | 12.7 15
EEEL - iy 2E Sk
H L H
.:"' L
T tr
RS L T H EE(g9 e L T H FE(g9)
MG0408 16 M8X1.0 8 5.4 MGO04 12 M8X1 8 4.4
MG0610 17 M10X1.0 10 8.8 MGO06 14 PT1/8 10 7.6

37




B MIRAN®

i1 7B B

MM Grease nipple R EREIESL in a two-way connection

N

C ) \d

N T ¢ '{_-’-b N

!;
s
{$

— ‘i 4

#§ code d5F f&Tooth size DF f&Tooth size L ELength SfafirAngle

( %ﬁ] %]J ) ( %%%IJ ) 2T-8-8 M8X1 M8X1 24 10

27-8-10 m8x1 M10X1 24 12

2T-10-10 M10X1 M10X1 26 12

27-10-12 M10X1 M12X1.25 29 14

2T-8-G1/8 m8x1 G1/8 23 10

2T-10-G1/8 M10X1 G1/8 23 12

2T-14-G1/4 M14X1.5 G1/4 33 16

2T-16-G1/4 M16X1.5 G1/4 36 18

2T-18-G3/8 M18X1.5 G3/8 39 21

BE Code DF Tooth size AfaEAngle LikELength | SffizAngle
HY-106T M6X1 0° 12 8

HY-108T M8X1 0° 15 10 L

HY-110T M10X1 0° 17 11

HY-114T R1/4 0° 24 13.5 i[ =
HY-118T R1/8 0° 17 11

HY-206T M6X1 45° 16 10

HY-208T Hax1 45° 19 10 RS code DF 42 Tooth size L& E Length
HY-210T M10X1 45° 19 1 e MEX1.0 20
HY-214T R1/4 45° 26 13.5 PJ-8 M8X1.0 23
HY-218T R1/8 45° 19 11 PJ-10 M8X1.0 25
HY-306T M6X1 90° 16 10

HY-310T M10X1 90° 22 11

HY-318T R1/8 90° 22 11 2 S

A=0° BT RHEHEHAYE
A=45° Bt AT E M
A=90° BT AERAEME

T 2-d
LAY

N A L
A=0° as grease nipple
A=45° to turn yellow when the nozzle
A=90° for right grease nipple
2 Code DF f&Tooth size d7F ZTooth size L& ELength SffitAngle
37Z-8-8 M8X1 M8X1 28 12
i AETAS%E 3TZ-8-10 M10X1 M8X1 28 12
an:HY-118
Note:don't take T for aluminum 3TZ-8-1/8 R1/8 M8X1 28 12
Such as:HY-118
3T7Z-10-8 M8X1 M10X1 30 12
3T7Z-10-10 M10X1 M10X1 30 12
3T7Z-10-1/8 R1/8 M10X1 30 12

38




el MIRAN®
JE g M 1

FEEREREL EEREHIEL

S B THN IR S BE THN IR
MYBD0418 ©4 PT1/8 MYBH0418 4 PT1/8
MYBDO0618 ©6 PT1/8 MYBH0618 06 PT1/8
MYBDO0614 6 PT1/4 MYBH0614 6 PT1/4
MYBD0638 ©6 PT3/8 MYBH0638 ©6 PT3/8
MYBD0818 ©8 PT1/8 MYBH0818 08 PT1/8
MYBD0814 8 PT1/4 MYBH0814 8 PT1/4
1 MYBD0838 ®8 PT3/8 MYBH0838 8 PT3/8
; MYBD1018 ©10 PT1/8 1 y— MYBH1018 ©10 PT1/8
: E MYBD1014 ®10 PT1/4 glig MYBH1014 ©10 PT1/4
MYBD1038 ®10 PT3/8 MYBH1038 ®10 PT3/8
MYBD1012 ®10 PT1/2 MYBH1012 ®10 PT1/2
MYBD1214 ®12 PT1/4 MYBH1214 ®12 PT1/4
MYBD1238 ®12 PT3/8 MYBH1238 ©12 PT3/8
MYBD1212 ®12 PT1/2 MYBH1212 ®12 PT1/2
MYBD1638 ©16 PT3/8 MYBH1638 ©16 PT3/8
MYBD1612 ©16 PT1/2 MYBH1612 ©16 PT1/2
MYBD1634 ©16 PT3/4 MYBH1634 ©16 PT3/4
MYBD1912 ®19 PT1/2 MYBH1912 ®19 PT1/2
MYBD1934 ®19 PT3/4 MYBH1934 ®19 PT3/4
MYBD2534 ©25 PT3/4 MYBH2534 ©25 PT3/4

e @H | wH | @B e ) @H | @®

MCBT11818 PS1/8 PT1/8 PT1/8 MCBT21818 PS1/8 PT1/8 PT1/8

1] - MCBT11414 PS1/4 PT1/4 PT1/4 MCBT21414 PS1/4 PT1/4 PT1/4
MCBT13838 PS3/8 PT3/8 PT3/8 MCBT23838 PS3/8 PT3/8 PT3/8
MCBT11212 PS1/2 PT1/2 PT1/2 MCBT21212 PS1/2 PT1/2 PT1/2
MCBT13434 PS3/4 PT3/4 PT3/4 MCBT23434 PS3/4 PT3/4 PT3/4

39




el MIRAN®

JE A M 15

4h ZF W i@ % SkExternal two-way connector A ZF W i# 3% kInternal teeth two-way connector

" o
-_!..;._-, ' Ly

p/s/ d
jﬂ
zs Y ¢ - E me A B T 1 E8(g
T-6-8 M6X1 M8X1 20 8
MK108 23 10 M8X1 M8X1 10
T-8-8 M8X1 M8X1 23 10
T-8-10 M8X1 M10X1 23 10 MK110 25 12 M10X1 M10X1 15
T-8-R1/8 M8X1 R8X1 23 10
T-10-10 M10X1 R10X1 25 10
T-10-R1/8 M10X1 R8X1 25 10 =gy s
) 1R IR B Sk
T-R1/8-R1/8 M10X1 R8X1 25 10
T-R1/8-R1/2 R1/8 R1/4 R1/2 30 22 B2 w7 SN
T-R1/8-R1/4 R1/8 R1/4 R1/4 27 14
MKBD0418 o4 PT1/8
T-R1/4-R1/4 R1/8 R1/4 R1/4 30 14
T-R1/4-R3/8 R1/8 R1/4 R3/8 30 17 MKBDOG18 08 bT1/8
RN F B gk
«is MKBDO0614 o6 PT1/4
EiR= D1M 5F D24k F %
£ MKBD0638 o6 PT3/8
MBH21818 PS1/8 PT1/8 $= ;
S MKBDO0818 o8 PT1/8
| |
me MBH21414 PS1/4 PT1/4
] e )
! g MKBD0814 ®8 PT1/4
= MBH33838 PS3/8 PT3/8
MKBD0838 ®8 PT3/8
MBH31212 PS1/2 PT1/2
MBH33434 PS3/4 PT3/4
AT B REk INTFE BiESL
B D1AF D2/ 7F B D15hZF D245k 3
MBH11818 PS1/8 PT1/8 MBH21818 PS1/8 PT1/8
- MBH11414 PS1/4 PT1/4 MBH21414 PS1/4 PT1/4
MBH13838 PS3/8 PT3/8 MBH23838 PS3/8 PT3/8
MBH11212 PS1/2 PT1/2 MBH21212 PS1/2 PT1/2
MBH13434 PS3/4 PT3/4 MBH23434 PS3/4 PT3/4

40




B MIRAN®

Et 451 =, BR 37 #F (Proportional restrictor rod)

2-M8X1

M CHEY

M JEY

1. DPM/DPG/MC/MIBIHEIA K It 2 4 X AR Bl 3 5% .
2. BXEW, MEERRFTMEAER.

3.FBES: 0. 2MPa,
4. JEIL_T-‘UH.}_EQ*I%[ /m.i }izuu.léﬁbjj @;u.;ff.ﬁl) X /}lLEi& _ttWﬁEE |_Jg:"?i'l'iﬁ:ﬁﬂﬂl%géﬁcp*HEWHEE%H’]JZ_E\ ik _ILI_\ 1&. E|‘ﬁé_£

MEMEERREATELHEEXEREF. £AEG tefliER BB EGREHHIBAERE (REHEI) BIEERESGEKINE
.

5. Z1E R, HEmwmiE L3RSk B @R AR E, BRI EMER S HER®IE, 7 55 1k HERR B9 57 3R

6. mEL: - ESHRBAXMEAIBETSENREENTURANKERRMELEL K,

DPM/DPG/MC/MJ type resistance measuring parts are also called proportional joints.
Tubular structure with restrictor rod and check valve.

Opening pressure: 0. 2MPa
Control the flow through the throttling principle and distribute the flow proportionately according to the flow capacity (flow number) .

The far, near, high, low, horizontal or vertical installations in the relubrication system of the same type of metering component are
all basically the same in actual use. Long service life, the proportion of joints check valve rubber seal external pressure test copper
sleeve (except the sealing surface) to prevent rubber seals from swelling and aging.

5. Sensitive operation and smooth oil discharge: The proportional joint check valve adopts conical spring to ensure that the metering
part is sensitive and oil-free and prevents the excluded oil agent from flowing backwards.

6. Flow ratio: The flow of the same model will change with the change of the ambient temperature and the viscosity of the oil during

the actual use.

BON~

41




el MIRAN®

B S A% B ¥R HRE (CC/min) % 1% 75 . Connection mode £
DPM-0 DPMO 18
i&;‘ﬂal:l%‘f%?%ﬁé% E—I% VEELR =R
2 DPM-1 DPMT 3-8 O AT S £ ErBRgmeNg | TR TR
5, BT TSR B R A EF%E nE
m DPM-2 DPM2 6 The inlet link can be linked to the
adjustable and single side allocator .
D PMi DPM-3 DPM3 12 The outlet method can be connected | 1 he restrictor
with the casing PB and nut PN which bar can be
is often used in the branch pipe .
DPM-4 DPM4 18 distribution to the mechanical customized
lubrication point
DPM-5 DPM5 22
B S A B R #E (CC/min) % # 75 ., Connection mode %5
DPJ-0 DPJO 1.8
-~ iz fm B ?%H‘t?ﬁ'ﬁé”é%ﬂﬁ?ma
=g - PN
DPJ-1 DPJ1 3.8 HaOm5EEEE, ERTXE
5 i 43 B B LA B A PRI AT TR B
DPJ-2 DPJ2 6 ) ) FREREEM
T The inlet connection mode can be
D P Ji connected with the casing PB and The restrictor bar
DPJ-3 DPJ3 12 nut PN. canbe
The outlet end is connected with customized
the equipment and is often used to
DPJ-4 DPJ4 18 allocate the end of the branch pipe
to the mechanical lubrication point.
DPJ-5 DPJ5 22
B S # A% B FR RE (CC/min) %1% 75 X Connection mode 3%
MC-0 M CO 1.8
< MC-1 M CA1 3.8
iz A5 E EPB*EE?'FEPN?L?%
-%HE]:F'/EE%EP BE/ALF_I*E:}EE
MC-2 M C2 6 FT & 2 E
M C;:FIJ The two ends are respectively
= connected with the casing PB and The restrictor bar
MC-3 M C3 12 the nut PN, which are often used in canbe
the middle of the oil road. customized
MC-4 M C4 18
MC-5 M C5 22
B S # 4% B FR #E (CC/min) %175 X Connection mode %3
MC-0 M CO 1.8
m 5 1 'ﬁu%ﬁ?ﬁz‘ BRFRE®
MC-2 M C2 6 i 57 BC B ML IR . RRAT A RIBRE P
_ , BT
) The inlet connection mode can be
M Ji MC-3 M C3 12 linked to the casing PB and nut PA. The restrictor bar
The outlet end is connected with the | can be customized
equipment and is often used to
MC-4 M C4 18 allocate the end of the branch pipe to
the mechanical lubrication point.
MC-5 M C5 22

42




B MIRANS

SN 22 B

= MST-| 11200

me REME | RBEN | BOThEE 2 - L mzkEm

P 4 [zmmENEHOL

MST-4 4 . R2 6 |[&mEE SN EHO6
s ) 3.0 0 1o | TRERA E¥
FHKEH ETEE

MST-6 6 2.7 R40

* SMNNLREERGRE, TEAVBMIERETSNGRATER, EATIEETE-20~+80" C
* Qutside steel wire hose uses rubber hose, which can be in the use of chip and rough work environment
and can apply to the temperaturerange-20~+80°C

5N IR 2 3P BB E

MSP-| ]1200

[zelErmeranrrE—1K]

[az[mrmerEnkEen |
FRKE (nm) |
= BEEMNE | EAEH | &N TH HT‘
BS a1 Mpa Mizmea d2 L1 L (mm) 4 |RFRENME IO
6 |FRREEINMEHO6
MSP—4 @4 30 R20 (Dg 17 EI“E;EFH
PEXE
MSP-6 »6 2.7 R40 ®10 18 i

*IMRLFERER—MINERBENRLE, IERVIBMIEFRESNGMTER, ER TIREEE-20~+80° C
* Outside wire sheath uses nylon tube with spring, which can be in the use of chip and rough work environmentand can apply to the
temperaturerange-20~+80°C

-

= ERE

MSG-|_]1200

1 42 25
l_é‘ O g ';l
1 sa|RRTHE

TH|% 7 st mse s
R FRKE (mm)
e = HhgEd 1 EREN | mpTHE d2 L i)
= FL &M Mpa Zmm 4 [z mmENE R0
MSG-4 b4 20 R40 12 b = TEE & %06
FLRIE [ ==ms
MSG-6 »6 18 R80 12 LR

*THEEREFERARSEMNRE, AEAYEMIERREESLNIMTEAR, EATRESEE-20~+80° C
*The high pressure hose uses polyurethane hose, which can in the use of chip and rough work environment and apply to the
temperaturerange-20~+80°C

THT_
THM 1200

=a|R B EME
a|wraaRE

FRKE (mm)
FREEINE RO
FREEINERPE
THT |Rmin R E
THM [RREEHFE

BS BEEAE BEKE/E EMEE

N

(o2}

THT D4/P6/P8 2m/4m

S5REERERAER

THM P4/P6/P8 2m/4m

* IMRAREFAGRE, JEAYIBMIERREELSMGM TER, EAFTRETEE-20~+80° C
* Outside steel wire pressure hose uses rubber hose, which can be in the use of chip and rough work environment and apply to the
temperature range-20~+80°C 43




i

» > ®
e aeaEECT M1 AIRAN
MZ1104 4 1 5 1.2 A
MZ1106 6 1 8.5 7 2.6
3 = & é»‘r-‘,
RHEEER MZ1108 8 1 10 9 2.2 - ‘3
#—_’n“gte_ral MZ1110 10 1 12.5 11 3.6 . .
ixed pipe ame— e
clamp MZ1204 4 2 11 5 1.8 A A 25.2
MZ1206 »6 2 14.5 7 2.8 ®5. Z—MO 10 Inlllﬂ
MZ1304 4 3 15 5 2.2 .
RBEEER Wi Bl 22 % 3%
) . MZ2404 4 4 18 5 3.0 . ) )
Wih B %k Unilateral fixed pipe clamp Bilateral tube clamps
Bilateral tube MZ2504 4 5 22 5 3.2
clamps
MZ2306 6 3 20 7 3.5
~ Parlad . .
e (Oil pipe)
.'/ N h
& %h )
’ o
B E hose nylontube alum\numtube EIFSRE g(?aptzzra\uminumlube i = copper tube
o] o ERMAK (SMEXATR) Pipe diameter specifications ERES (Mpa) SONTEHERE (mm) KE ()
& FiDescription & SMode " (outerziameterxinside diameter) Pressure appplaied mirﬁimum bending diameter Length
B &rubber pipe PP P4x2 / P6x4 D10x8 1.0 R30 4 #Ech coil 100m
Jé % &Nylon pipe NP-PA6 D4x2 D4x2. 5 D6x4 D10x8 4.0 R30 & #%Ech coil 100m
Je #.&Nylon pipe NP-PA11 D4x2 ®4x2. 5 D6x4 ®10x8 6.0 R20 4 #Ech coil 100m
4B &Aluminum pipe AP D4x2 / D6x4 ®10x8 4.0 R40 4} #Ech coil 100m
#4748 ECopper-coated aluminum pipe AP ®4x2 / D6x4 10x8 4.0 R40 4 #%Ech coil 100m
il &Copper pipe CP ! ®4x2.5 ®6x4. 5 ®10x8 10.0 R20 4} #Ech coil 30m
s Ry N oo N
HE R E MRS R
. L RABEAZSENEENTAZETESHTERERETE. EHE
Pl | . RS
l BA. AEFSEDEAAD .
sl — ERRYER, HRME, RFERHNTFFR XYEATENAE
, Y k| . EREDK, R LHE,
= | - Performance and features:
B The oil filter will not bend and deformation under pressure
back pressure.The oil filter areais large.The flow will not be
= reduced by filtration.
Clean sundries is simple, easy to operate. Just turn the cross
- handle, and the sundry can fall into cup body.Long service
= D life, safe and trouble-free.
- ' FEF | op & E
£ #Mode | O#Cal iber (E) H L D i, fitorins ot on(u) | Maimum spmismae aassure pe)
FL102 PT1/4 160 75 55 25 100 3.5
FL103 PT3/8 160 75 55 35 100 3.5
FL104 PT1/2 230 100 75 50 100 3.5
FL106 PT3/4 230 100 75 80 100 3.5
FL108 PT1 270 120 75 105 100 3.5
&b
T BE 5 4 =
3z st ESE S A= = 5o A 3 =
ZI AR RAEEEN, BEESEEILIR, BE
P 7
© B8, REFRE.
i/ Performance and features:
‘ The filter is made of copper - based filter with
27 5 ‘MUT high - density filtration, easy to operate and
— easy to install.
% Sk THEE M i BARE IR =i
Nodel | © giom 5O PSS | aximun flow(L/min) | filtering precision(u) | N X OUT | (ko)
ML-1025 30 2.5 10 PS1/8XPS1/8 0.3
PS1/4XPS1/4
ML-2530 30 3.0 25 0.3
ML-12535 30 3.0 125 0.3

44




HETEGE

el MIRAN®

SE LR LS HELAR 5 K =18 b ELES HEAR Bl &K =18F
olSle - i R IA, MEE - . gy |ERABKESN, BRK
o mimstng (0 | BROTO, LOMBRESM | gou R AMpRAL | REMASS  oon) | BRSO, 02KGRRKRR | om, BRI AL, K& oy

0=0. 4X8X1=0. 32m| /h

i
0=0. 012X8X2=0. 19m!/h

SEBQ=0. 023KX4H 7k B 12XI%
il (ml/h)

BB —BohiK, MER
80mm, EMAHHK100mm K&
N E‘fﬁﬁﬁﬁlﬂi =0=0
023X8X10=1. 84ml/h

©@
G

SHEQ=0. 013KX[E & &x3E
(ml/h)

BiRH—ORNE, RE
[E200mm, 3E20mm, K&/
B 5

Q=0.013X20X2=0. 52ml/h

K ,ﬂago 0. 001 7KXiF 5

-L&X:ﬁi%"ﬁ (ml/ h)
FH: JHE0=0. 006KXFHR
KXBRFE (ml/h)

BEFE—EEFESNER
K100mm3E40mm, K & /AT
BT M E80=0. 006x10x4=0.
24ml/h

HE0=0. 046KXTI [B B Exif

#3 (ml/h)

BREF—EWR, TERER
8mm. wﬁme ;Ki&lJ\E'JLFﬁ

FmE
020. 046X8X2=0. 74ml /h

©

SEQ=0. 023KX4H B EXEH 4

BiIgH — EERH,
i H1280mmi<100mm,

SHEBQ=0. 008KX x5 §E HXFE

Bi% B — 45 & B 4300mm,
%ﬁﬁﬁBmm TE'J\H‘IF)’T HE

Fe g AEEEE HEB 5 5%
BE SR AR 165 PR IE WA B PO
BAEE BELERE
BASMER R BAHER. BREY
gHER B 4 SR 4R R B B 7 EFIRE MR
B L AR 4P A2 1E R O L]
S AR A 75 31078 0 2B 30 A
PRI FHDA
S 3t HERS 3t 3R 2
EhEENR ERENE
S5 7 I R 7 7 iR EE
EOTE 3657 1 0 VA S i A EHAERREE N
UR i 3 58 P o 35 22 VRS . E TR
SE 2 P I 5 50 2 s 5
AR A S HEok
T 1B 5 5 4 RHN=SREETS M. HS
W ] 3 38 P 1 2 ESHA. BT IE M
SH R I R 7 7 105
i 8 > BEBENLKX T i B
R E AT T IR EEHAERRAE
A 5 P 5 5 BE AERRRENRERRA
REENTE RS2 AR R HE
EAF L% Bz EHE%
EAFEF ERENFE
SRR F Rk
ST 2% S48 S oL A B 28 S 3% & R 3
AR FHE%
NI EERARE TG T 5 5 A )
SH R I R 2 4 35 0 5 7% 1
Bt IR H1E /@ F5E 1550 575 9k 60 O
RREE® L{F REENAD & B AR R IR E
BRI A K R R S R
N EE FHRHRSE

45




Calculation of oil volume required for lubrication

el MIRAN®

Type
of Moving objects

Formula

Example (when K=1)

Type of Moving objects

Formula

Example (when K=1)

Ball-bearing ..‘o.
Roller bearing Q50

Cylindrical

Oil volume Q=0.14K x
bearing diameter x
bearing gty (ml/h)

Suppose there is a ball-
bearing, the bearing
diameteris 80mm, every
hour the required oil
volume

Q=0.04 x8 x 1=0.32ml/h

Oil volume Q=0.012k x

Suppose thereis a linear
sliding track, the block

Plain bearing

Oil volume Q=0.023K x
bearing diameter x contact
length(ml/h)

Suppose there is a plain
bearing, the bearing
diameter is 80mm, contact
length is 100mm, every
hour the required oil
volume

Q=0.023x 8 x 10=1.84ml/h

Suppose there is a smooth
sliding track vertically
placed, the block length is
100mm,width is 40mm,
every hour the required oil
volume

Q=0.006 x 10 x 4=0.24ml/h

Suppose there is arolling
cylinder, the diameter is
80mm, length is 100mm,
every hour the required oil

Horizontal: Oil volume
Q=0.0017 x block length x

Smooth block width(ml/h)
sliding track [ Vertical: Oil volume
Q=0.006 x block length x

block width(ml/h)
- Oil volume Q=0.023K x
(S:i)élllirlj]dnt(l;‘zlck @ bearing diameter x contact

9 length(ml/h)

volume
Q=0.023x8x 10=1.84ml/h

Ball-bearing length is 80mm, quality of
track \t/)vli%?li:(lr?\ﬁ]/ght)h x block blocks is 2, every hour the
required oil volume
Q=0.012x 8 x2=0.19ml/h
© Suppose thereis a cam,
. _ the perimeteris 200mm,
Cam Oil volume Q=0.013k x width is 20mm, every hour
perimeter x width(ml/h) th : .
erequired oil volume
Q=0.013x20x2=0.52ml/h
Suppose there is a gear,
. the diameter of pitchcircle
Oil volume Q=0.046k x . ! ;
Gear diameter of pitchcircle x |25080mm, geaLW'dt{L's
ear width(ml/h) mm, every hourtne
9 required oil volume
Q=0.046 x 8 x 2=0.74ml/h
Suppose there is a chain,
the length is 300mm, chair
. —> | Oil volume Q=0.008k x width is 8mm, every hour
Chain & chain length x width(ml/h) | the required oil volume
Q=0.008 x 30 x
0.8=0.19ml/h

Eliminating methods

Series Phenomenon Possible causes Eliminating methods
Incorrect voltage rates Use the correct power source
incorrect connection Follow the wiring diagram
Non-rotation of Pump is deadlocked by foreign body aspiration| Open oil pump and remove foreign body
! oil pump The coupling is damaged or shed Restores the linoleum
Thermal protection of motor works Wait for a few minutes to recover
The oil level is too low Add lubricating oil to liquid level
The motor damage Replace the motor
Oil tube leaking Eliminating leaking point
Pressure gauge failures Replace pressure gauge
There is sundries in the overflow valve Disassemble and clean
2 insufficient pressure The pressure of the overflow valve is too low|  Reset higher pressure of the overflow valve
The filter screen of the suction nozzle is blocked. Clean oil tank and filter screen
The oil viscosity is too low Disassemble and clean
The reservoir of oil tank is too high. Select high viscosity oils
3 No oil outlet while the pump rotates| The air in the pump is not clean. drainage
The filter screen of the suction nozzle is blocked Press the Man button to venting
There is sundries in the overflow valve Clean oil tank and filter screen
4 Little oil outlet There is too much resistance in the pipeline Disassemble and clean
The pressure of the overflow valve is too low Dredge the pipe line
Wear of oil pump for a long time use Reset the pressure of the overflow valve
Inadequate system pressure Reset higher pressure of the overflow valve or replace the pump body
5 z;?s;u(l;inst\;\gltCh Is incorrect connection Follow the wiring diagram
Pressure switch is broken Replace pressure switch
Floating ball damage Replace the float ball
6 -srvt;i?ch ilsiqol::dof clo?'n\tlri: The liquid level sensor fails Replace the liquid level sensor
incorrect connection Follow the wiring diagram
The piston rod of distributor is not prominent enough Extend pump oiling time
There is sundries in the overflow valve Remove and clean the overflow valve
The volume distributor is pressure release valve is deadlocked Disassemble and clean the pressure release valve
7 not working properly
System pressure is too high Properly reduce pressure of overflow valve
The pipe line is too elastic. Use high quality and high rigid pipe line
Distributor damage Change distributor

46







B MIRAN

mET e E MRS
Global Local

on R 5 —

Quality First
HRZEL
Customer First
1EEESPN
Integrity-based

BRAF/ D RE/HEL/NIER:

e -
1 1

RRARRN T K BARHE B R AR A

EAEN, SEN. FBHERFWIET BEHE TR
2018448 H &

All Rights Reserved by Shenzhen Miran Technology Co., Ltd
Any copy,photocopy or production as commercial

promotion are infringement.
Edition_Version_2018(Updated April 2018)




	1: 封面
	2: 目录
	3: 目录
	4: 公司介绍
	5: 容积式润滑系统装配图
	6: 抵抗式润滑系统装配图
	7: 型号标志及其说明
	8: MR-22022 (2L)半自动稀油泵
	9: MR-22322 (2L)全自动稀油泵
	10: MR-22023 (3L)半自动稀油泵
	11: MR-22323 (3L)全自动稀油泵
	12: MR-2202B(4L)半自动稀油泵
	13: MR-2202连续型(4L)稀油泵
	14: MR-2232B (4L)全自动稀油泵
	15: MR-2232连续型(4L)全自动稀油泵
	16: MRG-5202(3L)油脂稀油
	17: MRG3202（3L）半自动油脂泵
	18: MRG-3232 (3L)全自动油脂稀油泵
	19: MRG5232 (4L)油脂稀油泵
	20: MRG-3202(5L)油脂稀油一体泵
	21: MRG-3232(5L)全自动油脂稀油泵
	22: RGH-1202-100T00半自动油脂泵
	23: RGH-1232-110T全自动油脂泵
	24: RGH-1202-110T PLC半自动黄油泵
	25: RGH-1232-100T微电脑黄油泵
	26: 摆线泵系列
	27: 手拉泵手摇润滑油泵
	28: 自吸式冷却润滑喷雾器
	29: 手压泵手动黄油泵
	30: 双边分配器
	31: ME/MV/MK可调分配器
	32: 单边分配器
	33: 容积式分配器
	34: 润滑附件
	35: 润滑附件
	36: 润滑附件
	37: 润滑附件
	38: 润滑附件
	39: 润滑附件
	40: 润滑附件
	41: 比例式限流杆
	42: 比例式限流杆2
	43: 油管
	44: 油管过滤器
	45: 油量计算/故障排除
	46: 油量计算/故障排除英文
	页 47
	48: 尾页

